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Drefaee　序言
 
这套《美国高校入学考试指导丛书》，因其封面的白色基调，市面上称之为“SAT白皮书”，自2010年1月由上海译文出版社出版发行以来，未曾想受到各位SAT学子们如此的欢迎，《SAT阅读》等分册在3年内加印了10余次。说实话，这是笔者在写这套丛书时始料未及的。总之，谢谢大家的厚爱。
丛书出版以来，接到了许多同学们的提问，大部分问题我都亲自给同学们回信解答了。这些问题主要是因为笔误引起，所以这次再版，基本保留第一版的原貌，仅去掉了笔误，修正了表达不是很严谨的地方。在此向各位致歉。
回头想来，这套丛书之所以受到各位的青睐，我想最主要的原因可能还是其以试题分析见长的特点。市面上SAT习题书籍不少，但学生们在学SAT时，除了做题和对答案这两步，还迫切地想要第三步：知道为什么。兴许，这套丛书正好满足了这种需求，让大家及时解决迷惑，逐步纠正自己的思维偏差，熟悉SAT考试要求和特点，提高做题技巧和速度。
其实在写这套丛书之前，我就给自己定下一个目标，那就是希望最后同学们在看这套丛书的时候，就如同在课堂围坐在我的身边上课那样，听我娓娓道来。但真正动笔的时候，我才发现，实现这个目标其实并不容易，因为课堂讲课和在书中用文字阐明其实有着非常巨大的不同。这个不同就是，在课堂上讲解，你随时可以知道学生的困惑在哪，随时可以和学生互动，然后随时可以调整自己的讲授方式，让学生的问题迎刃而解。而用文字讲解，你就得提前预判读者对各道试题可能产生的困惑和问题所在，然后你的讲解才能一针见血，不偏不倚，才能让读者豁然开朗。
因此，对这套丛书中的每一道试题分析，下笔之前我都会根据这么多年的SAT教学经验，预判学生们可能的难处、疑惑，然后再决定在这道题上我到底是不厌其烦、演释再三，还是一笔带过。这个思路，贯穿了这套丛书写作的全部过程。
这套丛书的出版，要感谢上海译文出版社的热情鼓励，他们决心要打造中国第一套系统阐述SAT的经典丛书，使笔者笔耕不辍有了巨大的动力。感谢我历年来亲手带过的SAT学子们，他们的许多宝贵建议和想法都已被融入进了这套丛书。更要感谢各位同学对笔者的信任，我由衷希望这套丛书会成为你们冲击美国名校之路上的良师益友。
最后，对手捧这套丛书的读者，我想告诉你们，拥有梦想是一件激动人心的事情。梦想使我们心灵强大，梦想让我们无所畏惧，更是梦想使我们人类无论曾怎样饥寒交迫，忍辱负重，但最终都会生生不息浩浩荡荡。希望你们永远坚持自己的梦想，并为之付出坚持不懈的努力，直至到达成功的彼岸。在此，我衷心地祝福你们：
愿你们的人生，海阔天空。
 
张一冰



Foreword　前言
SAT数学在整个SAT考试中占了3个部分，其中两个考试时间为25分钟的部分，一个为20分钟的部分。从题型角度讲，包含五选一的选择题和解答题，其中选择题44题，解答题10题，总共54题。SAT数学的考点涵盖了国内初中、高中绝大部分的内容，涉及的知识面较广，但是题目的难度不高。
本书将SAT数学所涉及的考点，按照算数，代数，几何，概率、统计和逻辑，图表分析进行分类，每一大类下又分成若干具体的小节。每个小节中，先列出该知识点所包含的相关概念和结论，然后对典型例题从看问题的角度、知识点的归纳以及解题技巧这几方面入手，进行细致的分析；最后，给出练习题巩固，每道练习题都伴有详细的答案解析。
数学考点的总复习之后，提供了2套数学全真模拟题。每套全真模拟题都包含了SAT真实考试中会出现的题目类型。附录部分提供了中英文对照的SAT数学常用词汇。
本书重在对SAT数学题型进行分析、整理和归纳，希望能够帮助考生将知识点融会贯通，从而逐渐形成自己的思维习惯，而并非一味地要大家去被动地掌握所谓的策略和技巧。因为，笔者始终以为，攻克SAT数学，在SAT数学部分的考试中取得高分，关键是要有自己看问题的思路，只有这样才能在考试中做到处变不惊，临危不乱，从容应对一切可能出现的问题，最终取得理想的成绩。
希望本书能成为你实现这一目标的好帮手！



第一章　算　数
第一节　基本四则运算
加（add, plus）→和（sum）
减（subtract）→差（difference）
乘（multiply, times）→积（product）
除（divide）→商（quotient）
 
例：The sum of the numbers x, 3x－y and 2y＋4 is subtracted from 15. In terms of x and y, what is the result?
（A）11－4x－3y
（B）11－4x－y
（C）11＋2x－3y
（D）19－4x－y
（E）19＋2x－3y
分析：“A is subtracted from B”这一常见表达表示从B中减去A，故选择B。
 
例：If 13 is added to 2 more than one－half of a certain number, the result is 37. What is the original number?
（A）24
（B）40
（C）44
（D）61
（E）80
分析：“add”和“add to”都有加上的意思，但add仅是加上后面的数，而add to是加上后面的整个部分。比如“1 add 2 minus 3”表示“1＋2－3”，而“1 is added to 2 minus 3”表示“1＋（2－3）”。因此，本题有13＋＝37x＝44，选C。
 
例：If a number x is increased by 2 and the result is squared, the final value will be 49. Which of the following could be the value of x?
（A）－9
（B）－7
（C）－5
（D）－3
（E）－1
分析：“A is increased/decreased by B”表示A增加／减少了B，另一个容易与之混淆的表达是“A is increased/decreased to B” A增加／减少到B，请大家注意区分。
“A is squared”是将A平方的意思，等价的表达有“square A”，“the square of A”等。由此题目所要表达的是（x＋2）2＝49，两边开方。从所给选项看x＋2为负，故选择A。
 
例：If 8＋x is 4 more than 16, what is the value of 2x?
分析：“A more/less than B”表示比B多／少A，故得到8＋x＝16＋4, x＝24。
 
例：If multiplying k by 7 gives the same result as squaring k, which of the following must be true?
（A）7＋k2
（B）k2＋k＝7
（C）k2＋7k＝1
（D）7k＝1
（E）7k＝k2
分析：“multiply A by B”表示用B乘以A，另一种等价的表达是“A is multiplied by B”。故选择E。
 
练习题
1．If 5 times t is decreased by 8, which of the following represents the result?
（A）8－5t
（B）5t－8
（C）5（t－8）
（D）5（8－t）
（E）8（t－5）
 
2．If 6 times j is 1 more than the square of k, where k is an integer, what is the smallest possible value of j?
（A）－5
（B）－
（C）0
（D）
（E）It cannot be determined form the information given.
 
3．A number is added to 9 less than the number. If the result is 181, what is the number?
 
4．The product of 3, 5, 7 is equal to one－half the sum of 20 and x. What is the values of x?
 
5．By Saturday afternoon, 375 tickets had been sold for a Saturday evening performance at a theater with a capacity of 500 seats. After those 375 tickes were sold, half the members of a group of 210 people each purchased a ticket. If no other tickets were sold prior to the performance, how many tickets remained unsold at the time of the performance?
 
6．Prime numbers k and n are each greater than 2, and they differ by 4. If there is no prime number between k and n, what is the least possible value of k＋n?
 
习题解答
1．B
 
2．D
分析：由题意可得6j＝k2＋1≥1（k为整数），故当k＝0，6j＝1最小。
 
3．95
分析：x＋（x－9）＝181x＝95
 
4．190
分析：＝3·5·7＝10520＋x＝210x＝190
 
5．20
分析：该题只是一道简单的减法题，对于这种较长的题目强烈建议大家在读题时及时地将题目中反映出的相关数据和信息转换成数学表达，这样就避免了反复读题浪费时间。
 
6．18
分析：“differ by”是相差多少的意思，并不表明量与量之间确切的大小关系，即｜k－n｜＝4。
要使k＋n的值最小，则k和n的值都要尽可能小。令k为相对较小的素数，当k＝3时，n＝7，中间还有素数5不符合题意；当k＝5时，n＝9，不是素数；当k＝7时，n＝11，是素数，且中间没有别的素数，故k＋n的最小值为18。



第二节　偶数和奇数
奇数（odd）：不能被2整除的整数。
偶数（even）：能被2整除的整数。
	运算律：odd ± odd＝even 	odd × odd＝odd 
	　　　　odd ± even＝odd 	odd × even＝even 
	　　　　even ± even＝even 	even × even＝even 

 
 
例：If a and b are positive odd integers, which of the following must be a positive odd integer?
（A）a＋b
（B）a－b
（C）2a＋b
（D）2a－b
（E）
分析：由奇偶数的运算律排除A、B、E。根据运算律C、D的结果都为奇数，但是由于两数大小关系未知，故只有C能保证结果为正。应特别注意，当a＝b时，a－b＝0，而我们规定0也是偶数。
 
例：If x, y, z are integers, which of the following is NOT a possible value for 2x＋4y＋6z?
（A）4
（B）8
（C）12
（D）26
（E）29
分析：由奇偶数的运算律可知，无论x, y, z原来是何种奇偶性，它们和偶数的乘积一定还是偶数，而偶数与偶数的和也是偶数，故只有E的结果符合条件。
 
练习题
1．The sum of which of the following combinations of number will be odd?
（A）One even and two odd numbers
（B）Two even numbers
（C）Three even numbers
（D）Three odd numbers
（E）Four odd numbers
 
2．If x and y are integers and x y＋x2 is odd, which of the following statements must be true?
I．x is odd.
II．y is odd.
III．x＋y is odd.
（A）I only
（B）III only
（C）I and II only
（D）Iand III only
（E）II and III only
 
3．If x is an even integer, how many even integers are there between x＋3 and x＋13, inclusive?
1, 2, 3, 4, 5, 6, 7
 
4．How many pairs of different numbers can be chosen from the list above so that the sum of the two numbers is even?（Note: The pair 1, 3 is the same as the pair 3, 1）
 
习题解答
1．D
 
2．D
分析：xy＋x2＝x（y＋x），奇数和奇数相乘必为奇数，故选择D。
 
3．5
分析：“inclusive”此处的意思是“包含x＋3, x＋13”。由于even±even＝even，故只要找出3和13之间的偶数4, 6, 8, 10, 12和x相加就行。
 
4．9
分析：odd±odd＝even, even±even＝even，从1开始排起，和为偶数的数对有：

共有9对。



第三节　整除和因子
 
 
被除数（dividend）÷除数（divisor）＝商（quotient）＋余数（remainder）÷除数（divisor）
因子（factor）和倍数（multiple）：假如整数n除以m，结果是无余数的整数，那么我们称m就是n的因子，n是m的倍数。
素数（prime）：一个整数只有2个因子，1和它本身。
和数（composite）：一个整数至少有3个不同的因子。
素因子分解（prime factorization）：把一个数分解成素数相乘。
 
例：Trains A, B and C passed through a station at different speeds.. Train A's speed was 3 times Train B's speed, and Train C's speed was twice Train A's. What was Train C's speed, in miles per hour, if Train B's speed was 7 miles per hour?
（A）14
（B）21
（C）28
（D）35
（E）42
分析：此题包含2个表示倍数的常见用法，“n times A”表示A的n倍；“twice A”表示A的2倍。由题意A的速度是B的3倍，A的速度是21；C的速度是A的2倍，C的速度是42，选E。
 
例：When the positive integer k is divided by 7, the remainder is 6. What is the remainder when k＋2 is divided by 7?
（A）0
（B）1
（C）2
（D）3
（E）4
分析：这一类型的题目是SAT考试中的常见题。比较简单的做法是代值，选择符合条件的k值代入即可。本题中可选择k＝13代入计算，结果为1，故选择B。
 
例：If a, b and c are different positive integers such that a is divisible by b, and b is divisible by c, which of the following statements must be true?
I．a is divisible by c.
II．a has at least 3 positive factors.
III．a＝bc.
（A）I only
（B）II only
（C）I and II only
（D）I and III only
（E）I, II and III
分析：“A be divisible by B”表示A可被B整除。假设a＝kb, b＝lca＝klc; k, l表示倍数，故选择C。
 
例：In a certain high school, there are three times as many band members as orchestra members and twice as many orchestra members as jazz choir members. If no student can be enrolled in more than one of the three activities and there are 108 members in the three activities, how many students are in the band?
分析：“n times as ... as”表示第二个as前是后的n倍。根据这一用法，band members是orchestra members的3倍，orchestra members是jazz choir members的2倍，所以band members是jazz choir members的6倍。6jazz＋2jazz＋jazz＝108, jazz＝12, band＝72。
 
例：The positive number n is the product of three different prime numbers greater than 2. If the sum of these three prime numbers is also prime, what is the smallest possible value of n?
分析：要使n最小，那么构成它的3个素数也要尽可能的小。我们从大于2的最小素数3算起，3, 5, 11这三个素数的和为素数，且是满足这一条件的素数对中最小的，故n最小值为165。
 
例：Yesterday, John pained boxes at an average rate of 10 minutes per box. Ann painted boxes at an average rate of 15 minutes per box. If they both painted boxes at these respective rates for an hour, what is the total number of boxed they painted?
分析：这一类题目是SAT数学部分中的一类常见题型——速率问题。根据时间×速率＝总量，John和Ann一小时分别能做6个和4个盒子，故一小时两人合起来能做10个盒子。
 
练习题
1．When the positive integer s is divided by 12, the remainder is 4. When the positive integer t is divided by 12, the remainder is 5. What is the remainder when the product st is divided by 6?
（A）1
（B）2
（C）3
（D）4
（E）5
 
2．A survey of households in a small city showed that there was an average of 3.2 persons per household and an average of 2.5 radios per household. Based on these results, if 48000 people live in the city, which of the following is the best estimate of the total number of radios in the households of this city?
（A）18520
（B）26300
（C）35200
（D）37500
（E）61440
 
 
3．Machine A produces chairs at a constant rate of 6 chairs per hour, and machine B produce chairs at a constant rate of 8 chairs per hour. How many more minutes does it take machine A to produce 32 chairs than it takes machine B?
 
4．For three positive prime numbers a, b and c, ab＝33 and bc＝21. What is the value of abc?
 
5．How many positive integers less than 1000 are not divisible by 3?
 
6．A school ordered $600 worth of light bulbs. Some of the light bulbs cost $1 each and the others cost $2 each. If twice as many $1 bulbs as $2 were ordered, how many light bulbs were ordered altogether?
 
7．A car traveled 10 miles at an average speed of 20 miles per hour and then traveled the next 10 miles at an average speed of 40 miles per hour. What was the average speed, in miles per hour, of the car for the 20 miles?
 

 
8．On the number line above, tick marks are spaced so that the distance from a to b is twice the distance from b to c and the distance form b to c is twice the distance from c to d. If a, b, c, and d are positive integers, what is the smallest possible value of d?
 
9．How many are there three－digit positive integers that satisfies all of the following conditions?
●Each digit is a different factor of 40.
●The integer is odd.
●The sum of the digits is 11.
 
习题解答
1．B
分析：利用代值法，选择满足条件的最小的s＝16, t＝17。
 
2．D
分析：家庭总数48000÷3.2＝15000，收音机总数2.5×15000＝37500。
 
3．80
分析：本题是一道典型的速率问题，特别注意时间单位的转换。机器A做32把椅子比机器B做32把椅子多花的时间为×60＝320－240＝80分钟。
 
4．231
分析：显然b是33和21的公因子3，因此a＝11, c＝7, abc＝231。
 
5．666
分析：逆向思维法。用999减去能被3整数的数的个数就是不能被3整除的数的个数。而能被3整除的数可用3n表示，n从1到333。999－333＝666。
 
6．450
分析：由题意，价值$1的bulbs是$2的bulbs的2倍。假设$2的bulbs有n个，那么$1的bulbs有2n个，1×2n＋2×n＝600, n＝150，从而总的bulbs是3n＝450。
 
7．
分析：时间×速率＝路程。前10英里所花的时间为小时，后10英里所花的时间为小时，故行驶20英里的平均速度为英里／小时。
 
8．8
分析：要使d最小，则a最小，且各点间的距离也要最小。因为a, b, c, d都是正整数，故取a＝1，c, d的间距为1。那么，b, c的间距为2，a, b的间距为4，从而a, d的间距为7, d的最小值为8。
 
9．4
分析：由第一条，组成3位正整数的3个数字是从40的个位数因子中选取，即从1, 2, 4, 5, 8中选。由第二条，这个3位数的个位数一定是1或5。由第三条，若个位数是1，则可能的3位数是281或821；若个位数是5，则可能的3位数是245或425。故满足条件的所有3位正整数共有4个。



第四节　分数和小数
分数（fraction）＝分子（numerator）/分母（denominator）
小数（decimal）：

 
例：In the decimal representation of 1/k, where 0＜1/k＜1, the tenths digit is 1, the hundredths digit is 3, and at least one other digit is nonzero. What is the tenths digit in the decimal representation of ?
分析：＝1－, ＝·13 ...the tenths digit is 8.
 
例：Last week the Star Bakery made 3 kinds of cakes. One half of the cakes were made with 4 eggs each, two thirds of the rest of the cakes were made with 3 eggs each, and the remaining 54 cakes were made with 2 eggs each. What was the total number of eggs used to make all of these cakes?
分析：由题意，余下的54块蛋糕占剩下一半的1/3即1/2×1/3＝1/6，因此蛋糕总数为54÷1/6＝324，故用四个蛋的蛋糕有324×1/2＝162，用3个蛋的蛋糕有324－162－54＝108。因此总共用去鸡蛋162×4＋108×3＋54×2＝1080。
 
例：When 1.783 is rounded to the nearest whole number, the result is how much greater than when 1.783 is rounded to the nearest tenth?
分析：“be rounded to”是四舍五入的意思。本题是将1.783分别四舍五入到个位及十分位，然后计算差值2－1.8＝0.2。
 
例：If P, R, and T are digits in the positive three－digit integer PRT, what is the decimal equivalent of PRT×10－2?
分析：“n－digit”表示n位数。一个数乘以10n（n为正整数／负整数），小数点往右／往左移n位；将PRT看成PRT.00，故小数点往左移2位，得到P.RT.
 
练习题
1．If 5.16 is rounded to the nearest tenth and the result is doubled, what is the final result?
（A）10.4
（B）10.3
（C）10.2
（D）10.1
（E）10.0
 
2．Norman used 1/4 of his monthly allowance to purchase a book and saved 1/3 of the remaining allowance for a school trip to the museum. What fraction of Norman's monthly allowance was saved for the school trip?
（A）
（B）
（C）
（D）
（E）
 
3．If ＝2 and ＝4, what is the value of ?
（A）4
（B）5
（C）5
（D）6
（E）7
 

 
4．If a, b, c are each positive integers in the equation above, what is one possible value of the product abc?
 
5．The integer x is the sum of 3 different positive integers, each less than 10. The integer y is the sum of different positive integers, each less than 20. What is the smallest possible value of ?
习题解答
1．A
分析：5.16四舍五入到十分位得到5.2，翻倍后等于10.4。选A。
 
2．A
分析：题目只要求一个分数，故使用归一法。假设Norman的monthly allowance为1，他用在school trip的钱为1×（1－1/4）×1/3＝1/4。
 
3．C
分析：＝1＋＋＝1＋＋＝1＋＋4＝5，选C。
 
4．12
分析：这类题目比较常见的做法是代值。但是本题分母各不相同，用代值法需要通分计算，如果多试几次的话，会浪费不少时间。不妨一开始就通分，有6a＋3b＋c＝18，这样显然更容易观察。由于a，b，c都是正整数，故a＝1 or 2，由此可以得到满足等式的b，c的不同取值，本题的解并不唯一。我们取其中一组a＝1，b＝2，c＝6，得到abc＝12。
 
5．
分析：要使的值最小，则分子x要越小，分母y要越大。x是3个小于10的不同正整数的和，故最小值是1＋2＋3＝6；y是3个小于20的正整数的和，故最大值是17＋18＋19＝54，因此的最小值为＝。



第五节　百分数
百分数（percent）＝部分（part）／总数（whole）
增长的百分数＝（新的量－旧的量）／旧的量
减少的百分数＝（旧的量－新的量）／旧的量
 
例：A salesperson's commission is k percent of the selling price of a car. Which of the following represents the commission, in dollars, on 2 cars that sold for $14000 each?
（A）280k
（B）7000k
（C）28000k
（D）
（E）
分析：k percent＝k％＝k/100, the commission＝×28000＝280k
 
例：If the value of a certain building increased from $1.6 million to $2.0 million, what was the percent increase in the value?
分析：the percent increase＝＝25％
 
例：Which of the following is equivalent to 1/2 of 23 percent of 618?
（A）23％ of 309
（B）23％ of 
（C）22％ of 618
（D）％ of 309
（E）×618
分析：“c percent of b percent of a”这一表达的翻译次序是从后往前翻译，也就是a的百分之b的百分之c，因此本题就有618×23％×＝309×23％，故选择A。
 
例：If the length of a rectangle is increased by 30％, and the width is decreased by 30％, what is the effect on the area of the rectangle?
分析：假设长方形的长、宽各为l，w，l增加30％即为l（1＋30％）＝1.3l，w减少30％即为w（1－30％）＝0.7w，新的长方形面积1.3l·0.7w＝0.91lw，是原面积的91％，故面积减少9％。
 
练习题
1．In a certain election, 60 percent of those who voted were females. If 8000 males voted, what was the total number of people who voted in the election?
（A）12800
（B）14000
（C）18600
（D）20000
（E）21000
 
2．If x＞0, then 2 percent of 5 percent of 3x equals what percent of x?
 
3．A rectangle is to be altered by increasing its length by 10 percent and decreasing its width by 10 percent. What effect will this have on the area of the rectangle?
 
4．On a hike, Ian walked downhill 2/5 of the time and uphill 3/5 of the time. His downhill walking rate was 4 miles per hour, and his uphill walking rate was 2 miles per hour. The distance that Ian walked downhill was what fraction of the total distance that he walked?
 
习题解答
1．D
分析：隐藏的条件是投票的男性占40％，故总投票人数为8000/40％＝20000，选D。
 
2．0.3
分析：3x×5％×2％＝0.3％x
 
3．The area of the rectangle will decrease by 1％
分析：假设长方形的长、宽各为l，w，l增加10％即为l（1＋10％）＝1.1l，w减少10％即为w（1－10％）＝0.9w，新的长方形面积1.1l·0.9w＝0.99lw，是原面积的99％，故面积减少1％。
 
4．
分析：题目并非求一具体数值，利用归一法，假设时间为1。下山的距离为×4＝，上山的距离为，则下山距离占总路程的分数为。



第六节　比和比例
比（ratio）：描述量与量之间的比较关系。常用的表示法如：2∶3, , 2 to 3。
 
 
比例（proportion）：两个比相等的一种描述。
正比例（be directly proportional to）：两个量比始终不变＝k，k为非零常数。
反比例（be inversely proportional to）：两个量变积始终不变ab＝k，k为非零常数。
 
例： In preparing for a race Jill ran 1/2 the distance that Sam ran, and Sam ran 3 times the distance that Aisha ran. What was the ratio of the distance that Jill ran to the distance that Aisha ran?
（A）1∶3
（B）1∶2
（C）2∶3
（D）3∶2
（E）5∶1
分析：假设Aisha跑动的距离为d，则Sam跑动的距离为3d，Jill跑动的距离为。故Jill和Aisha的跑动距离之比为，选D。
 
例：A machine can fill 24 cartons in 1 hour. At this rate, how many cartons can the machine fill in 5 minutes?
（A）2
（B）3
（C）5
（D）6
（E）8
分析：显然机器的装填量和时间成正比，故比值不变，选择A。此题大家要注意时间单位的统一，或者都用小时，或者都用分。
 
例：If x≠0 and x  is inversely proportional to y, which of the following is directly proportional to
?
（A）
（B）
（C）
（D）y
（E）y2
分析：假设所求的量为Y，与成正比，则它们的比不变。又x与y成反比，则它们的乘积不变xy＝k。当Y＝y2, Yx2＝y2x2＝k2＝K是常数，故选择E。

例：In the table above, x and y are directly proportional. What's the value of y when x is ?
（A）8
（B）9
（C）10
（D）12
（E）18
分析：两个量成正比，比值始终不变，故＝12y＝10，选C。
 
练习题
1．For nonzero numbers w, x and y, if x is twice y and y is  of w, what is the ratio of w2 to x2?
（A）2 to 3
（B）4 to 9
（C）3 to 2
（D）9 to 4
（E）9 to 16
 
2．At Middletown High School, 25 of 150 juniors are members of the marching band. The fraction of the number of seniors who are members of the band is equal to the fraction of the number of juniors who are members of the band. How many of the 120 seniors are in the band?
 
3．

The values of x and y in the table above are related so that （y－1） is directly proportional to （x＋1）. What is the value of b－a?
 
习题解答
1．D
分析：
 
2．20
分析：由题意可知3年级生和4年级生中参加marching band的比值相等，故＝x＝20。
 
3．9
分析：（y－1）和（x＋1）成正比，故比值始终不变a＝19, b＝28b－a＝9。



第七节　平均数、中位数和众数
平均数（average, arithmetic mean）：若干个数的平均数，是用这些数的和除以数的个数。
中位数（median）：一列数按大小顺序排列后，处于中间的那个数。如果这列数有奇数个，那么中位数正好在数列的中间；如果这列数有偶数个，那么中位数是中间两个数的平均数。
众数（mode）：众数是一列数中出现次数最多的那个数，可以不止一个。如果一列数中每个数出现的次数相同，则没有众数。
 
3, 4, 6, 7, 10, 12
例：The number n is to be added to the list above it. If n is an integer, which of the following could
be the median of the new list of seven numbers?
I．6
II．6.5
III．7
（A）I only
（B）II only
（C）III only
（D）I and III only
（E）I, II and III
分析：数列有偶数个数，且按升序排列，故中位数为＝6.5。数列中的每个数加上n，则中位数为6.5＋n，n为整数，故选B。
 
 
例：N is a set of numbers whose average is 3. M is a set that is generated by doubling each number in N. What is the average of the numbers in set M?

（A）
（B）2
（C）3
（D）6
（E）9
分析：“double ...”表示将……翻倍，类似的还有“triple ...”表示将……翻3倍。本题中M是由N中的数翻倍后构成的，故M的平均数也应该是N的平均数的2倍，选D。
 
例：In a certain game, the only scores were 50, 60, 70, 80, 90, 100. The bar graph above shows the scores of 23 children who played this game. Which of the following correctly shows the order of the median, mode and average of the 23 scores?
（A）average＜median＜mode
（B）average＜mode＜median
（C）median＜mode＜average
（D）mode＜average＜median
（E）mode＜median＜average
分析：由图可知，众数是出现次数最多的分数是70，平均数通过计算可得是76.5。学生数是奇数23，故中位数应是排在第12位的学生的得分是80，故选D。
 
练习题
1．The average age of a certain group of 25 business managers is 40 years. If 5 additional managers are included in the group, then the average age of the 30 managers is 43 years. What is the average age of the 5 additional mangers?
（A）50
（B）52
（C）55
（D）58
（E）60
 
5, 6, 5, 6, 7, 5, 5, n, 6
2．For the numbers listed above, the only mode is 5 and the median is 6. Each of the following could be the value of n EXCEPT
（A）6
（B）7
（C）8
（D）9
（E）10
 
3．Don and his six friends played two rounds of a board game, and each round yielded an integer score for each player. The two scores for each player were added together. The total scores for the seven players are 73, 89, 69, 50, 89, 58, and Don's total score, which was the median of the seven scores. If Don's score in the first round was 25 points, what is one possible score Don could have earned in the second round?
 
4．A fitness center purchased a number of exercise machines: 4 costing $1700 each, 8 costing $1300 each, and x costing $1200 each, where x is a positive odd integer. If the median price for all exercise machines purchased by the fitness center was $1300, what is the greatest possible value of x?
 
习题解答
1．D
分析：＝58
 
2．A
分析：将除n外的数字以大小次序排列5, 5, 5, 5, 6, 6, 6, 7。当n＝6时，5和6都出现了4次，众数不唯一，和题意矛盾。故选择A。
 
3．44到48之间的任意一个整数
分析：将已知的6个得分按大小次序排有50, 58, 69, 73, 89, 89。由于Don的分数是中位数，所以69≤Don的两轮得分≤73。两边减去第一轮得分25，得到所求的第二轮得分可能的范围44≤Don的第二轮得分≤48，故可能的取值为44, 45, 46, 47, 48。
 
4．11
分析：将所有的机器按价格从小到大排列共有奇数台。假设8台$1300的机器中的第n台是中位数（1≤n≤8），则它的右侧有（8－n）＋4＝12－n台机器，它的左侧有（n－1）＋x台机器，故12－n＝（n－1）＋xx＝13－2n，当n＝1时x有最大值11。



第八节　指数和根
指数（exponent）和根（root）的基本运算律：
x0＝1

xa·xb＝xa＋b


（x·y）a＝xa·ya
（xa）b＝xab

 
例：If x2＝y3 and y＞1, what does  equal in terms of y?
（A）y
（B）
（C）y2
（D）y6
（E）y9
分析：＝y，选A。
 
例：If （）n＝5, what is the value of ?
分析：
 
例：If （b2·b3）x＝b125 and （by）y＝b64, w here b＞1 and y＞1, what is the product of x and y?
（A）24
（B）32
（C）96
（D）192
（E）200
分析：（b2·b3）x＝（b5）x＝b5x＝b1255x＝125, x＝25; （by）y＝by2＝b64y2＝64, y＝8
xy＝200，选E。
 
练习题
1．If ＝y, what does x4 equal in terms of y?
（A）y2
（B）
（C）y3
（D）y5
（E）y6
 
2．If x＞0, n is a nonnegative integer, and 2xn＋1＋xn＋2＝xn＋3, which of the following must equal x3?
（A）2＋2x＋x2
（B）2x＋x2
（C）2＋x2
（D）2＋x
（E）3x
 
3．If y＝2x, which of the following expressions is equivalent to 4x－2x＋1 for all positive integer values of x?
（A）2y－2
（B）y2
（C）y2－y
（D）y2－2y
（E）y2＋2y
 
4．Positive integers x, y, z satisfy the equations x－y＝and yz＝729. What is the value of x＋z?
（A）5
（B）8
（C）9
（D）11
（E）13
 
xy＝4096
 
5．In the equation above, x and y are positive integers. What is the greatest possible value of x－y?
 
习题解答
1．E
分析：＝y（）6＝y6x4＝y6，选E。
 
2．B
分析：2xn＋1＋xn＋2＝xn＋32x·xn＋x2·xn＝x3·xn，两边除以xn，就有x3＝2x＋x2，选B。
 
3．D
分析：4x－2x＋1＝（22）x－2·2x＝（2x）2－2·2x＝y2－2y，选D。
 
4．B
分析：x－y＝＝，因为x，y是正整数，故x＝2，y＝3。yz＝3z＝729＝36z＝6，因此x＋z＝8，选B。
 
5．4095
分析：要使x－y越大，则x越大y越小，即底数越大指数越小，故当x＝4096，y＝1时满足条件。



第九节　集　　合
 
集合（set）：是具有某种特定性质的个体的全体。这样的个体称为元素，若集合包含某元素，则称该元素属于集合。
交集（intersection）：由若干个集合所共有的元素所组成的集合。
并集（union）：由若干个集合的所有元素所组成的集合。
文氏图（Venn diagram）：也称韦恩图，用圆（内部区域）表示集合及其关系的图形。在SAT数学部分的测试中，有很多集合的题目用文氏图求解更直观、更方便。
典型的文氏图图形

其中每个圆代表一个集合，两个圆的公共部分代表2个集合的交集；两个圆的全体代表两个集合的并集。
 
 
例：If A is the set of even integers and B is the set of integers that are divisible by 7, which of the following integers is NOT contained in set A and is NOT contained in set B?
（A）4
（B）10
（C）28
（D）35
（E）39
分析：由题意，A是偶数集合，B是能被7整除，也就是7的倍数的集合，只有39既不属于A也不属于B。选E。
 
例：Set S contains the positive multiples of 6 that are less than 50, and set T contains the positive multiples of 8 that are less than 50. How many numbers do sets S and T have in common?
（A）None
（B）One
（C）Two
（D）Four
（E）Eight
分析：S＝｛6, 12, 18, 24, 30, 36, 42, 48}, T＝{8, 16, 24, 32, 40, 48}，故它们的公共元素共有2个，选C。

 
例：In a survey, 5000 students selected their usual methods of communicating with friends from the following three options: calling（C）, text messaging（T）, or instant messaging（I）. The Venn diagram above shows the results of the survey. How many students selected exactly two of the three methods of communicating?
分析：本题中每个圆代表一种通讯方式。任意2个圆的公共部分代表同时使用这2种通讯方式的人数，但应排除342，因为这是3圆的公共部分，在本题中意为着同时选择3种联系方式的人数。故选择C和I的人有463人，选择T和I的有501人，选择C和T的有355人，三者相加总共有1319人。
 
练习题
1．If H is the set of prime numbers between 1 and 20 and I is the set of all positive multiples of 3 or 5, how many numbers appear in both H and I?
（A）Five
（B）Four
（C）Three
（D）Two
（E）One

 
2．In the Venn diagram above, A＝{1, 2, 3, 4, 6} and B＝{2, 4, 6, 8, 10}. How many integers are represented by the shaded region of the diagram?
（A）1
（B）2
（C）3
（D）4
（E）5
 
　　　　　A＝｛3, 6, 8, 9, 11, 15｝
　　　　　B＝｛1, 4, 6, 8, 13, 17, 22｝
　　　　　C＝｛2, 5, 6, 9, 17, 19｝
3．Sets A, B, and C are shown above. What is the set that is the result of A∪（B∩C）?
 
习题解答
1．D
分析：H＝｛2, 3, 5, 7, 11, 13, 17, 19｝，I是3或5的正整数倍数的集合，故它们的公共元素有2个：3和5。选择D。
 
2．C
分析：阴影部分因是由属于B但不属于A的元素所组成，故选择C。
 
3．A∪（B∩C）＝｛3, 6, 8, 9, 11, 15, 17｝
分析：因为B∩C＝｛6, 17｝，所以A∪（B∩C）＝｛3, 6, 8, 9, 11, 15, 17｝。



第十节　序　　列
等差序列（arithmetic sequence）：如果一个序列从第二项起，每一项与它的前一项的差等于同一个常数。这个常数叫做等差序列的公差（common difference），公差常用字母d表示。
等差序列的通项公式为tn＝t1＋（n－1）d, n∈Z＋，前n项和公式为sn＝
等比序列（geometric sequence）：如果一个序列从第二项起，每一项与它的前一项的商等于同一个常数。这个常数叫做等比序列的公差（common ratio），公差常用字母r表示。
等比序列的通项公式为tn＝t1rn－1, n∈Z＋，前n项和公式为sn＝。
 
例：The first term of a sequence of numbers is 1. If each term after the first is the product of -2 and the preceding term, what is the sixth term of the sequence?
（A）64
（B）32
（C）16
（D）－16
（E）－32
分析：“preceding”是在前面的意思。由题意，本序列中第一项后的每一项，是－2和前一项的乘积，也就是说后一项和前一项的商始终是常数－2，故这是一个公比为－2的等比序列。
t6＝t1r5＝1·（－2）5＝－32，选E。
 
1, 4, 10, t, 46, ...
例：In the sequence above, the first term is 1 and each term after the first is 2 more than twice the previous term. What is the value of t?
（A）12
（B）14
（C）20
（D）22
（E）24
分析：这类题目是SAT数学部分中的一类常见题，题目中的序列既非13等差也非等比，解题时只需根据题目中对于序列特征的描述，找出它的规律即可。本题中的序列后一项比前一项的2倍还多2，故t＝2·10＋2＝22，选D。
 
5, a, b, 5, ...
 
例：In the sequence above, the first term is 5 and the second term is a. Each term after the second is the product of the two immediately preceding terms. If a＜0, what is the 10th term of the sequence?
（A）－521
（B）－510
（C）5
（D）510
（E）521
分析：由题意可知，第二项后的每一项都是它前面2项的乘积，故b＝5a，5＝ab＝5a2a2＝1，a＜0a＝－1，b＝－5。依这一规律，前10项为5, －1, －5, 5, －52, －53, 55, －58, －513, 521，选E。
 
例：Each term of a certain sequence is greater than the term before it. The difference between any two consecutive terms in the sequence is always the same number. If the third and sixth terms of the sequence are 17and 77, respectively, what is the eighth term?
分析：“consecutive”表示连续的意思。由题意，本题中的序列后一项总比前一项大，且连续2项的差是一个常数，故这是一个等差序列。t6＝t1＋5d＝t3＋3d77＝17＋3dd＝20t8＝t6＋2d＝117。
 
练习题
1．In a sequence, each term after the first is found by adding the constant k to the preceding term. The 10th term in the sequence is 23, and the 16th term is 41. What is the 7th in the sequence?
（A）12
（B）14
（C）20
（D）22
（E）24
 
1, －2, 3, －4, 5, －6, ...
 
2．The first six terms of a sequence are shown above. The odd－numbered terms are increasing consecutive positive odd integers starting with 1. The even－numbered terms are decreasing consecutive negative even integers starting with －2. What is the sum of the 50th and 51st terms of the sequence?
（A）－101
（B）－1
（C）0
（D）1
（E）101
 
1, 2, 2, 3, 3, 3, 4, 4, 4, 4, ...
 
3．All positive integers appear in the sequence above and each positive integer k appears in the sequence k times. In the sequence, each term after the first is greater than or equal to each of the terms before it. If the integer 12 first appears in the sequence as the nth term, what is the value of n?
 
2, －4, 8, ...
 
4．The first term of the sequence above is 2, and every term after the first term is －2 times the preceding term. How many of the first 50 terms of this sequence are less than 100?
 
1210, 1210＋1210, 1210＋1210＋1210, ...
 
5．In the sequence above, the first term is 1210 and each term after the first is 1210 more than the preceding term. Which term in the sequence is equal to 1212?
 
习题解答
1．B
分析：由题意，这是一个公差为k的等差序列，t16＝t10＋6d41＝23＋6kk＝3, t10＝t7＋3dt7＝t10－3d＝t10－3k＝14，选B。
 
2．D
分析：由题意，本序列中每一项的绝对值恰好等于项数，只是奇数项为正，偶数项为负。故第50、51项分别为－50、51，它们的和为1。选D。
 
3．67
分析：由题意，1出现1次，2出现2次，3出现3次，4出现4次，……，11出现11次。故12首次出现之前，前面每个数出现的次数构成了一个1到11，公差为1的等差序列，求这11个数的和s11＝＝66，故12首次出现在第67项。
 
4．28
分析：由题意，这是一个首项为2，公比为－2的等比序列。故在前50项中，25个项数为偶数的项为负，必小于100。剩下的25个项数为奇数的项可以看成首项为2公比为（－2）2＝4的等比序列，tn＝2·4n－1＜100n＝3，故总共有28项符合条件。
 
5．144
分析：观察序列，可知第n项是n个1210的和。由于1212＝122·1210＝144·1210，故1212是序列的第144项。



第二章　代　数
第一节　方　　程
方程（equation）：含有未知量的等式。
一次方程（simple equation）：未知量的最高次数是1次的方程。
二次方程（quadratic equation）：未知量的最高次是2次的方程。
需要掌握的一些常用方法及公式：
十字相乘法：

完全平方公式：（x±b）2＝x2±2bx＋b2
平方差公式：（x＋b）（x－b）＝x2－b2
 
 
例：If 3 more than x is 2 less than 9, what is the value of x?
（A）3
（B）4
（C）7
（D）8
（E）10
分析：依题意，x＋3＝9－2，x＝4，选B。
 
例：A restaurant has 19 tables that can seat a total of 84 people. Some of the tables seat 4 people and the others seat 5 people. How many tables seat 4 people?
（A）4
（B）7
（C）9
（D）11
（E）13
分析：假设4人桌有x张，则5人桌有19－x张。由题意，4x＋5（19－x）＝84，解得x＝11，选D。
 
｜x－3｜＝
 
例：What is the least value of x that satisfies equation above?
分析：由于｜x｜＝ax＝±a，所以x－3＝±x＝3－＝。
 
例：The cost of a telephone call using a long－distance carrier A is $1.00 for any time up to and including 30 minutes and $0.07 per minute thereafter. The cost using long－distance carrier B is $0.06 per minute for any amount of time. For a call that lasts t minutes, the cost using carrier A is the same as the cost using carrier B. If t is a positive integer greater than 30, what is the value of t?
分析：由题意，A的花费由2部分组成：30分钟以内的基本费用以及超出30分钟的额外费用，所以A的费用表达式为1＋（t－30）·0.07；而B不设基本费用，它的费用表达式为0.06t。所以1＋（t－30）·0.07＝0.06tt＝110。
 
例：Ray has $175 that he wants to distribute among Jack, Bill, and Carl. He wants to give Jack twice as much as he gives Bill and half as much as he gives Carl. How much should he give Jack?
（A）$20
（B）$30
（C）$40
（D）$50
（E）$60
分析：假设Ray给Jack x，则他给Bill和Carl的分别为, 2x。因此x＋＋2x＝175x＝50，选D。
 
例：If （x－2）2＝36 and x＜0, what is the value of x?
（A）－23
（B）－7
（C）－5
（D）－4
（E）－2
分析：x－2＝－6x＝－4，选D。
 
例：Let the function g be defined for all values of xby g（x）＝x（x＋1）. If m is a positive number and g（m＋2）＝12, what is the value of m?
分析：g（m＋2）＝（m＋2）（m＋3）＝m2＋5m＋6＝12m2＋5m－6＝0（m－1）（m＋6）＝0m＝1
 
练习题
1．If 4 more than twice a number is equal to 10, what is 3 times the number?
（A）4
（B）7
（C）9
（D）11
（E）13
 
2．A container is  full of water. If 6 gallons of the water were poured into the container, it would be  full. How many gallons of water does this container hold when it is completely full?
 
3．From a jar containing of 50 pieces of candy, of which 25 are red and 25 are green. Mary has taken 3 red and 4 green pieces. She takes an additional 11 pieces from the jar. What is the least number of these additional pieces that must be red in order to for Mary to have more red candies than green candies among all the pieces she has taken？
RENTAL COST

 
4．The table above shows the cost of renting a piece of equipment from stores A and B. Each store charges a larger amount for the first hour and a smaller constant amount for each additional hour. For what number of hours will the two stores charge the same amount?
（A）6
（B）7
（C）8
（D）9
（E）10
 
5．In a survey, 88 people were asked about two television programs, X and Y. Of the people surveyed, 56 watch program X, 42 watch program Y, and 10 watch neither program. How many of the people surveyed watch both programs?
（A）10
（B）20
（C）27
（D）29
（E）30
 
6．Zelda, Barry, and Gary have a total of 78 DVDs. Zelda has 10 less than DVDs than Barry has, and Gary has twice as many DVDs as Zelda has. How many DVDs does Gary have?

 
7．The largest square above has side of length 9 and is divided into two shaded rectangles and two smaller squares labeled I and II. The shaded rectangles each have an area of 18, and the lengths of the sides of the squares are integers. What is the area of square II if its area is lager than the area of square I?
 
8．A grocery customer spent a total of $9.60 for ground beef and coffee. The coffee cost 2 times as much per pound as the ground beef, and the customer bought 3 times as many pounds of ground beef as pounds of coffee. How much, in dollars, did the customer spend on coffee?
 
习题解答
1．C
分析：假设这个数为x，则2x＋4＝10x＝33x＝9，选C。
 
2．36
分析：假设容器容量为x，依题意，有＋6＝x＝636。
 
3．7
分析：假设额外取出的11颗糖果中有x颗红色，则绿色有11－x颗。要使总共取出的糖果中红色的比绿色的多，则3＋x＞4＋（11－x）x＞6。所以在额外取出的11颗糖果中，最少要有7颗红色的，才能使总的红色糖果数量大于绿色糖果数量。
 
4．E
分析：由表格可知，租赁时间超过一小时，A店在原来费用的基础上每小时加收$3，B店在原来费用的基础上每小时加收$2.50。假设经过x小时后，两家店费用一样，则表达式为8＋3t＝13＋2.5tt＝10，选E。
 
5．B
分析：假设两个节目都看的有n人，则只看X的有56－n人，只看Y的42－n人。依题意有，（56－n）＋（42－n）＋n＝88－10，可得n＝20，选B。
 
6．34
分析：假设Zelda有x张DVDs，则Barry有x＋10张，Gary有2x张。由题意，x＋（x＋10）＋2x＝784x＝682x＝34，故Gary有34张DVDs。
 
7．36
分析：假设正方形II的边长为x，则长方形的面积为x（9－x）＝18x2－9x＋18＝0，由十字相乘法解得x＝6，故正方形II的面积为36。
 
8．3.84
分析：设beef的价格为x，由题意coffee的价格为2x。设顾客买了y磅coffee，由题意买了3y磅的beef。所以顾客在coffee和beef上的花费分别为2xy，3xy。由题意
 
2xy＋3xy＝5xy＝9.602xy＝3.84



第二节　方程组
方程组（system of equations）：把若干个方程合在一起研究，使其中的未知量同时满足每一个方程的一组方程。
 
 
例：The square of x is equal to 9 times the square of y. If x is 1 more than 3 timesy, what is the value of x?
（A）－4
（B）－
（C）－
（D）
（E）
分析：由题意，可联立方程组
，选E。
 
例：If m and p are positive integers, 2m·2p＝64, and（2m）p＝32, which of the following could be the value of m?
（A）1
（B）3
（C）4
（D）6
（E）8
分析：由指数函数的运算律，可联立方程组
m（6－m）＝5m2－6m＋5＝0（m－1）（m－5）＝0m＝1 or 5，选A。
 
x＝y2
x＝
z＝8y
 
例：In the system of equations above, if x＞1, what is the value of x?
分析：y4＝8yy3＝8y＝2x＝4
 
例：Each student in a group of 30 students studies Italian, Spanish, or both. The total number of students studying Italian is three more than the total number of students studying Spanish. If the number of students that study both subjects is the same as the number of students that study exactly one subject, how many students in the group study only Italian?
（A）6
（B）9
（C）15
（D）21
（E）24
分析：假设学习Italian的人数为x人，则学习Spanish的人数为x－3人。两样都学的人数设为y人，则只学习Italian的有x－y人，只学习Spanish的有x－3－y。由题意，联立方程组
2y＝30y＝15x＝24，选E。
 
练习题
1．If（x＋y）2＝100 and （x－y）2＝16, what is the value of xy?
（A）10
（B）21
（C）25
（D）27
（E）29
 
2．One number is 8 more than twice another number. If the sum of the two numbers is 23, what is the smaller of the two numbers?
（A）5
（B）9
（C）11
（D）13
（E）18
 
z＝x－y＋4　　　　　　　　　（1）
 
z＝y－w－3　　　　　　　　　（2）
 
z＝w－x＋5　　　　　　　　　（3）
 
3．Based on the system of equations above, what is the value of z?
（A）2
（B）3
（C）4
（D）6
（E）12
 
4．A bag contains only two types of coins. The total value of the 30 coins in the bag is $6. Of the 30 coins, x coins are worth $0.10 each and y coins are worth $0.25 each. If there are no other coins in the bag, which of the following systems of equations can be solved to find the number of each type of coin in the bag?
	　　（A） 	0.1x＝0.25y 
	
	30（x＋y）＝6 
	　　（B） 	0.1x＝0.25y 
	
	30x＋y＝6 
	　　（C） 	x＋y＝30 
	
	0.35（x＋y）＝6 
	　　（D） 	x＋y＝30 
	
	0.1x＋0.25y＝6 
	　　（E） 	x＋y＝6 
	
	0.1x＋0.25y＝30 

 
习题解答
1．B
分析：4xy＝84xy＝21，选B。
 
2．A
分析：假设较小的数为x，较大的数为y，由此可得联立方程组
x＋（2x＋8）＝23x＝5，选A。
 
3．A
分析：（1）＋（2）有2z＝x－w＋1，把它加到（3）上有3z＝6z＝2，选A。
 
4．D
分析：硬币的总数是30，每种硬币的数量与对应价格的乘积之和就是30枚硬币的总价，故选D。



第三节　不等式
 
不等式（inequality）：用不等号（＜，＞，≤，≥）将解析式连起来的式子。
不等式的解集（solution）：满足不等式的变量的范围。
不等式组（system of inequalities）：若干个不等式的联立。
不等式组的解集：满足不等式组中每个不等式的变量的范围。
不等式的基本性质：
（1）如果x>y，那么y＜x；如果y＜x，那么x＞y；（对称性）
（2）如果x＞y，y＞z；那么x＞z；（传递性）
（3）如果x＞y，而z为任意实数或整式，那么x＋z＞y＋z；（加法原则）
（4）如果x＞y，z>0，那么xz＞yz；如果x＞y，z＜0，那么xz＜yz；（乘法原则）
（5）如果x＞y，z＞0，那么x÷z＞y÷z；如果x＞y，z＜0，那么x÷z＜y÷z；
（6）如果x＞y，m＞n，那么x＋m＞y＋n，x－n＞y－m;
（7）如果x＞y＞0，m＞n＞0，那么xm＞yn；
（8）如果x＞y＞0，那么xn＞yn（n＞0）。
绝对值不等式（inequality with absolute value）：
｜f（x）｜≤a（a≥0）－a≤f（x）≤a
｜f（x）｜≥a（a≥0）f（x）≥a or f（x）≤－a
以上两个结论对“＜，＞”同样成立。
 
 
例：If｜6－5y｜＞20, which of the following is a possible value of y?
（A）－3
（B）－1
（C）1
（D）3
（E）5
分析：｜6－5y｜＞206－5y＞20 or 6－5y＜－20y＜－or y＞，选择A。
 
例：If x2＋8x≤－15, which of the following is a possible value of x?
（A）－6
（B）－4
（C）－2
（D）0
（E）2
分析：x2＋8x≤－15x2＋8x＋15≤0（x＋3）（x＋5）≤0，依次代入各选项，选C。
 
t2－k2＜6
t＋k＞4
 
例：t and k are positive integers in the inequalities above and t＞k, what is the value of t?
（A）1
（B）2
（C）3
（D）4
（E）5
分析：解不等式组0＜t－k＜1.5，因为t和k都是正整数且t＞k，所以t－k＝1。经验算可知，只有当t＝3，k＝2时，才满足2个不等式，故选C。
 
例：If x＜y and r＜s, which of the following must be true?
I．x＋r＜y＋s
II．x－r＜y－s
III．xr＜ys
（A）I only
（B）II only
（C）III only
（D）I and II only
（E）I, II and III
分析：由不等式的基本性质（6），I对II错。对于III，可举一反例：－3＜1 and－2＜2（－3）·（－2）＞1·2，选A。
 
练习题
＞3
1．In which of the following intervals does every value of x satisfy the inequality above?
（A）－1＜x＜－
（B）－＜x＜－
（C）＜x＜
（D）＜x＜
（E）＜x＜1
 
xy＝x＋y
 
2．If y＞2, what are all possible values of x that satisfy the equation above?
（A）x＜0
（B）0＜x＜1
（C）0＜x＜2
（D）1＜x＜2
（E）x＞2
 
3．For how many integers n is（2n＋1）（3n－11）a negative number?
（A）None
（B）One
（C）Two
（D）Three
（E）Four
 
4．For all numbers x and y such that x＜y, which of the following is true about the expression x－｜y｜?
（A）It is equal to 0.
（B）It is negative.
（C）It is positive.
（D）It is equal to 2x.
（E）It is equal to 2y.
 
5．The function f is defined by f（x）＝2x2－5. What are possible values of f（x） where －1＜x＜1?
（A）－5≤f（x）＜－3
（B）－5≤f（x）＜3
（C）0≤f（x）＜3
（D）0≤f（x）＜8
（E）2≤f（x）＜8
 
｜x＋3｜≥5
｜y－4｜≤3
 
6．If x and y satisfy the inequalities above, then ｜xy｜ could be any of the following EXCEPT
（A）16
（B）8
（C）4
（D）2
（E）1
 
f（x）＝｜3x－17｜
 
7．For the function defined above, what is one possible value of a for which f（a）＜a?
 
8．A positive four－digit integer, WXYZ, in which W, X, Y, and Z each represent a different digit, is formed according to the following rules：
 
　　　1．X＝W＋Y＋Z
　　　2．W＝Y＋1
　　　3．Z＝W－5
What is the four－digit integer?
 
习题解答
1．C
分析：因为＞3，故x必大于零，排除A和B。＞33x＜20＜x＜，选C。
 
2．D
分析：
依次代入各选项，可知选D。
 
3．E
分析：要使2项相乘为负，则这两项必然异号。由此得到2组不等式组，分别求解
，满足这一条件的整数有4个，选E。
无解。
 
4．B
分析：根据绝对值的性质｜x｜＝，分2种情况讨论：
　　　　　y＞0，x－｜y｜＝x－y＜0（x＜y）
　　　　　y＜0，x－｜y｜＝x＋y＜0（x＜y＜0）
选B。
 
5．A
分析：－1＜x＜10≤x2＜10≤2x2＜2－5≤2x2－5＜－3，选A。
 
6．E
分析：，易知选E。
 
7．1
分析：f（a）＝｜3a－17｜＜a，要使不等式有解，a必大于零。因此
｜3a－17｜＜a－a＜3a－17＜a0＜4a－17＜2a2a＜170＜a＜
在该范围内任取a的值，不等式必成立。
 
8．5940
分析：2可变为Y＝W－1，与3一起代入1有X＝W＋（W－1）＋（W－5）＝3W－6。因为X是这个正4位数的百位数字，故0≤X＝3W－6≤92≤W≤5。又由3可知，W只能取5，此时Z＝0，Y＝4，X＝9，故此4位数为5940。



第四节　函数及其图像
函数（function）：一般地，给定非空数集A，B，按照某个对应法则f，使得A中任一元素x，都有B中唯一确定的y与之对应，那么从集合A到集合B的这个对应，叫做从集合A到集合B的一个函数。记作：x→y＝f（x），x∈A。x称为自变量（independent variable），y称为因变量（dependent variable）。集合A叫做函数的定义域（domain），记为D，集合{y∣y＝f（x），x∈A}叫做值域（range），记为R。
函数与函数图像的关系：函数y＝f（x）的图像上的某一点（a, b）一定满足函数表达式，即b＝f（a）。
线性函数（linear function）：又称一次函数。图形是一条直线，一般写为y＝mx＋b，其中m表示直线的斜率，b表示直线和y轴相交时的截距。

二次函数（quadratic function）：图形是一条抛物线（parabola），一般写为y＝a（x－k）2＋h（a≠0）。其中a决定开口方向，a＞0开口向上；a＜0开口向下。对称轴（line of symmetry）方程为x＝k，顶点（vertex）坐标为（k, h）。

函数图像的平移（translation）：
k＞0，y＝f（x＋k）将函数y＝f（x）的图像往左移k个单位；y＝f（x－k）将函数y＝f（x）的图像往左移k个单位。
k＞0，y＝f（x）＋k将函数y＝f（x）的图像往上移k个单位；y＝f（x）－k将函数y＝f（x）的图像往下移k个单位。
函数图像的反射（reflection）：
函数y＝f（x）的图像关于x轴反射得到函数y＝－f（x）的图像；
函数y＝f（x）的图像关于y轴反射得到函数y＝f（－x）的图像；
函数y＝f（x）的图像关于直线x＝y轴反射得到函数x＝f（y）的图像。
 
例：A store will print an order of shirts with a special design. The store charges a one－time fee of $200 for creating the artwork, plus $6 for each shirt that it prints. Which of the following gives the total charge, in dollars, to print an order of n shirts?
（A）194n
（B）200n＋6
（C）206＋n
（D）200＋6n
（E）200＋n＋6
分析：由题意，商店的收费分为2部分：对于设计的一次性收费$200，以及每印1件衬衫所收取的额外费用$6。所以印n件衬衫的总费用200＋6n，选D。

例：The table above defines a linear function. What is the value of p?
（A）21
（B）23
（C）25
（D）27
（E）29
分析：假设表格定义的线性函数为y＝mx＋b，任取表格中2点代入，求解
m＝6, b＝1y＝6x＋1p＝6·4＋1＝25，选C。

例：Which of the following graphs is the reflection of the graph above about the x－axis?
分析：根据函数图像关于x轴反射的定义：x不变y取相反数，即是把x轴下方的图像翻到x轴上方，把x轴上方的图像翻到x轴下方，故选A。

 

例：A portion of the graph of the function f is shown in the xy－plane above. What is the y－intercept of the graph of the function g defined by g（x）＝f（x）－1?
（A）－2
（B）0
（C）1
（D）2
（E）3
分析：根据函数平移的定义，g（x）的图像就是f（x）图像向下平移一个单位得到的，所以g（x）在y轴上的截距，就可以由f（x）在y轴上的截距向下平移一个单位得到，由图可知，选C。
 
n（t）＝－20t＋k
 
例：There was a 100-day period when the number of bees in a certain hive could be modeled by the function n above. In the function, k is a constant and n（t）represents the number of bees on day number t for 0≤t≤99. On what number day was the number of bees in the hive the same as it was on day number 10?
（A）20
（B）30
（C）40
（D）50
（E）60
分析：本题是SAT数学部分中的一类常见题，即针对一个实际背景，建立一个数学模型，然后要求对这一数学模型进行相关的分析、计算，以达到某个所要求的结果。对于这一类题目，由于已经建立了函数关系式，所以只要弄清其中各变量所代表的实际含义，理解题目的要求，进行计算就可以了。本题问的是第几天蜂巢中的蜜蜂数和第10天蜂巢中的蜜蜂数相等？由此，我们得到
n（t）＝n（10）－20t＋k＝－20·10＋kt2－40t＋300＝0t＝30
选B。
 
例：For all positive integers x, let x▲be defined to be （x－1）（x＋1）. Which of the following is equal to 6▲－5▲?
（A）2▲＋1▲
（B）3▲＋2▲
（C）4▲＋3▲
（D）5▲＋4▲
（E）6▲＋5▲
分析：本题也是SAT数学部分的常见题型，即题目临时定义一个函数，这个函数是你平时从未遇到过的，可能还含有奇怪的记号。对于这类题目并不必紧张，只要弄清函数的定义，根据定义进行相关的计算就可以了。本题中6▲－5▲＝（6－1）（6＋1）－（5－1）（5＋1）＝11，经过计算B符合条件。

例：The graph above shows the function g, where g（x）＝k（x＋3）（x－3） for some constant k. If g（a－1.2）＝0 and a＞0, what is the value of a?
分析：由图可知，顶点坐标为（0, －4），因此g（0）＝－4k·3·（－3）＝－4k＝，则g（a－1.2）＝0（a－1.2＋3）（a－1.2－3）＝0a＝4.2。

例：The figure above shows the graph of a quadratic function. What is the value of t?
分析：（0, 10）和（7, 10）关于x＝3.5对称，二次函数的对称轴为x＝3.5。因此（t, 0）和（－1.5, 0）到对称轴的距离相等，有t－3.5＝3.5－（－1.5）, t＝8.5。
 
练习题
1．Mrs. Stevens will purchase 2 pens and 1 notebook for each of her 6 children. If the cost of each pen is $p and the cost of each notebook is $n, which of the following represents the total cost, in dollars, of the pens and notebooks Mrs. Stevens will purchase?
（A）6p＋n
（B）12p＋n
（C）6（p＋n）
（D）6（p＋2n）
（E）6（2p＋n）

2．In the figure above, the graph of y＝2x2－9x＋9 intersects the y－axis at P and the x－axis at R. What is the area of rectangle OPQR？

3．The figure above shows a parabola with x－intercepts （a, 0） and （b, 0） and line of symmetry x＝k. What is b in terms of a and k?
（A）a－2k
（B）
（C）
（D）k－a
（E）2k－a
 
4．The point P（a, b）, where a, b are nonzero numbers, is reflected across the y－axis to a point Q. The point Q is reflected across the x－axis to a point R. In terms of a and b, what is the difference of the coordinates of point R?
（A）－（a＋b）
（B）－a＋b
（C）a－b
（D）a＋b
（E）2（a＋b）

 
5．The graph of the function f is shown in the xy－plane above. When the graph of f is reflected about x－axis, the result is the graph of the function g. What is the value of g（－5）?
（A）－2
（B）－1
（C）0
（D）1
（E）2

 
6．The complete graphs of the functions f and g are shown in the xy－plane above. Which of the following could be equal g（x）?
（A）3f（x）
（B）f（x－3）
（C）f（x＋3）
（D）f（x）－3
（E）f（x）＋3
 
7．For all positive integers n, let n▲ be defined as the square of the greatest prime factor of n. For example, 6▲＝9, since the greatest prime factor of 6 is 3 and 32＝9. What is the value of 15▲?
（A）2
（B）4
（C）5
（D）25
（E）100

 
8．The function f and g are defined for all values of x, and certain values of those functions are given in the table above. If the function h is defined by h（x）＝f（2x）＋2g（x） for all values of x, what is the value of h（1）?
 
9．The estimated value, in dollars, of a piece of equipment is given by the function v（t）＝mt＋15000, where the integer t is the number of years after the equipment was purchased, 0≤t≤12, and m is a constant. The estimated value of the equipment 10 years after the purchase is $3000. What is the estimated value, in dollars, of the equipment 8 years after the purchase?
 
习题解答
1．E
分析：由题意，要给每个孩子买2支钢笔，1本笔记本，一共有6个孩子，所以总共要买12支钢笔，6本笔记本，选E。
 
2．
分析：OP，OR分别是长方形OPQR的长和宽，只要取出P、R的坐标就能得到长方形的面积。
（为什么x≠3？）
因此OP＝9，OR＝，所求面积为。
 
3．E
分析：（a, 0）和（b, 0）关于对称轴x＝k对称，故它们到对称轴的距离也相等，由此可得b－k＝k－ab＝2k－a，选E。
 
4．B
分析：由函数图像关于2坐标轴反射的定义可知
P（a, b）Q（－a, b）S（－a, －b）选B。
 
5．E
分析：根据函数图像关于x轴反射的定义，g（－5）＝－f（－5）＝2，选E。
 
6．D
分析：由图可知g（x）的图像是将f（x）的图像向下平移3个单位得到的，根据函数平移的定义，选择D。
 
7．D
分析：15＝1×3×5，最大的素数因子为5，故15▲＝52＝25，选D。
 
8．18
分析：h（1）＝f（2）＋2g（1）＝4＋14＝18。
 
9．5400
分析：该设备购买10年后的估值是3000，代入函数式有3000＝10m＋15000，可得m＝－1200。那么购买8年后的估值为v（8）＝－1200×8＋15000＝5400。



第三章　几　何



第一节　线和角
直线的平行（parallel）和垂直（perpendicular）：一条直线如果垂直于2平行线中的一条，那它也垂直于另一条。也可解释为垂直于同一条直线的2条直线互相平行。
线段的中点（midpoint）：到线段两端距离相等的点。
角的分类：
锐角（acute angle）：小于90°的角；
直角（right angle）：等于90°的角；
钝角（obtuse angle）：大于90°，小于180°的角；
平角（straight angle）：等于180°的角，它的两条边在同一条直线上。
角的互余（complementary）：角的和为90°；
角的互补（supplementary）：角的和为180°。
邻角（adjacent angles）：有相同的顶点，有一条公共边且不重叠的角。
（1）在一条直线上的所有的邻角的和为180°。见下图，有a＋b＋c＝180°

（2）围绕一个共同顶点的所有邻角之和是360°。见下图，有a＋b＋c＋d＋e＝360°

平行线和角的关系：
两平行线被一直线所截，有以下的关于角的关系

对顶角（vertical angles）：一个角的两边分别是另一个角两边的反向延长线。两直线相交，对顶角相等。上图中，∠1＝∠3，∠2＝∠4，∠5＝∠7，∠6＝∠8。
同位角（corresponding angles）：在截线的同旁，被截线的同一方的角。两直线平行，同位角相等。反之也成立。上图中，∠1＝∠5，∠2＝∠6，∠3＝∠7，∠4＝∠8。
内错角（alternate angles）：在截线的两旁，被截两直线之间，成“Z”型或“倒Z”型的角。两直线平行，内错角相等。反之也成立。上图中，∠2＝∠8，∠3＝∠5。
同侧内角（same side interior angles）：在截线的同旁，被截两直线之间的角。两直线平行，同侧内角互补。反之也成立。上图中，∠2＋∠5＝180，∠3＋∠8＝180。
由以上的关系，我们可以得出以下结论：两平行线被一直线所截，任一锐角和任一钝角一定互补。（请大家自己证明）
 
例：Four different lines j, k, l and m are drawn in a plane so that j∥m, l∥k, and m⊥l. Lines j and l intersect at point P, and lines m and k intersect at point Q. Which of the following lines must be perpendicular to ?
I．j
II．l
III．m
（A）None
（B）I only
（C）II only
（D）I and II
（E）II and III
分析：根据题意，画出如下图形

易知，选A。

 
例：Lines j, k and l intersect at a point as shown above. If y＝70, what is the value of x?
（A）20
（B）30
（C）40
（D）45
（E）55
分析：根据对顶角相等，同一条直线上的所有邻角互补的结论，得到x＋2y＝180，x＝40，选C。

 
例：In the figure above, l∥m. What is the value of y?
分析：由两直线平行同侧内角互补，（x＋10）＋（2x－25）＝180，x＝65，又因为对顶角相等y＝x＋10＝75。

例：In the figure above, P lies on  and  bisects ∠BPD. What is the measure of ∠CPD？
（A）90°
（B）50°
（C）60°
（D）70°
（E）80°
分析：“bisect”是平分的意思。由图可知∠BPD＝180°－∠APB＝100°，∠CPD＝0.5∠BPD＝50°，选B。

例：In the figure above, if k and l are parallel lines intersected by line m, what is the value of 2x?
（A）30
（B）45
（C）60
（D）72
（E）85
分析：两平行线被一直线所截，任一锐角和任一钝角一定互补，则2x°＋3x°＝180°，x＝36，2x＝72°，选D。
 
练习题
1．Lines l, m, r, and s are all different lines that lie in the same plane. If l⊥m, m⊥r, and r⊥s, which of the following must be true?
I．l⊥s
II．l∥r
III．m⊥s
（A）I only
（B）I and II
（C）I and III
（D）II and III
（E）I, II and III

2．Line l intersects  at point B so that AB＜BC, as shown above. If X, Y, and Z （not shown） are the midpoints of ,  and , respectively, which of the following must be true?
I．A and X are on the same side of l.
II．C and Y are on the same side of l.
III．X and Z are on opposite sides of l.

 
3．In the figure above, w is twice y and y is twice x. What is the value of y?
（A）36
（B）40
（C）45
（D）72
（E）144

 
4．In the figure above, lines l and m are parallel. What is the value of x?
（A）24
（B）36
（C）54
（D）72
（E）108

 
5．In the figure above, r∥s. If y＝18, what is the value of x?
（A）23
（B）24
（C）25
（D）26
（E）27

 
6．In the figure above, six segments intersect at O;  bisects ∠AOF, and  bisects ∠AOE, and  bisects ∠AOD. If x＝40 and y＝30, what is the measure of ∠BOE?
 
习题解答
1．B
分析：由垂直于同一直线的两直线平行，可得l∥r，m∥s。又r⊥s，因此l⊥s，选B。
 
2．E
分析：I、III是显然成立的。Y是的中点，且AB＜BC，故Y应在B的右侧，故II也成立。选E。
 
3．D
分析：依题意，w＝2y，y＝2x。由于围绕一个共同顶点的所有邻角之和是360°，故w＋4x＋y＝4x＋4x＋2x＝360，因此x＝36，y＝2x＝72，选D。
 
4．D
分析：由图可知，2y＋3y＝180，y＝36。又x和2y的对顶角是两直线平行条件下的同位角，故x＝2y＝72。选D。
 
5．E
分析：两直线平行，同侧内角互补，故x＋y＋5x＝180，因此x＝27，选E。
 
6．90
分析：因为 bisects ∠AOD，所以∠AOD＝2x＝80；又由 bisects ∠AOF，所以∠AOF＝2∠AOD＝160；∠BOE＝∠AOF－∠AOB－∠EOF＝90。



第二节　三角形及三角函数
三角形（triangle）的边（side）和角（angle）：
（1）三角形的内角（interior angle）：三个内角之和等于180°；
（2）三角形的外角（exterior angle）：三角形的一边与另一边延长线的夹角。三角形的一个外角等于和它不相邻的两个内角之和；三角形的三个外角之和为360°；
（3）三角形的边（side）：两边之和大于第三边，两边之差小于第三边；
（4）三角形的边角关系：在同一个三角形内，大边对大角，大角对大边；
（5）三角形的中位线（median line）：连接三角形两边重点的线段。中位线平行于第三边且等于第三边的一半。
特殊的三角形：
（1）等腰三角形（isosceles triangle）：有两条边相等，两个角相等的三角形；
（2）等边三角形（equilateral triangle）：三条边都相等，三个角都等于60°的三角形；
（3）直角三角形（right triangle）：有一个角是90°的三角形，90°的角称为直角（right angle）。直角三角形90°角所对的边称为斜边（hypotenuse），另外两条边称为直角边（leg）。直角三角形的三条边满足勾股定理（也称毕达哥拉斯定理）：斜边的平方等于两直角边的平方和。
相似三角形（similar triangles）：对应角相等，对应边成比例的两个三角形。
判定：（1）如果一个三角形的两个角和另一个三角形的两个角对应相等，那么这两个三角形相似；
（2）如果两个三角形的两组对应边成比例，并且相应的夹角相等，那么这两个三角形相似；
（3）如果两个三角形的三组对应边成比例，那么这两个三角形相似。
三角函数（trigonometry）：在一个直角三角形中，对于某个非直角A有以下的定义
正弦（sine）：sinA＝＝
余弦（cosine）：cosA＝＝

正切（tangent）：tanA＝＝
 
以下是部分常用角的三角函数值

三角形的周长（perimeter）：三条边的和a＋b＋c；
三角形的面积（area）：底乘高的一半即ah；若用三角函数，则三角形的面积为2边及夹角正弦乘积的一半即bcsinA。特别的直角三角形的面积是两直角边的乘积的一半。

例：What is the value of w in the figure above?
（A）90
（B）100
（C）110
（D）135
（E）145
分析：根据两直线相交对顶角相等，及三角行内角和为180°，有w＝180－45－35＝100，选B。
 
 
例：Two sides of a triangle each have length 5. All of the following could be the length of the third side EXPECT
（A）1
（B）3
（C）4
（D）7
（E）10
分析：由三角形三条边的关系，我们可以得到5－5＜第三条边的长＜5＋5，所以E不可能。
 

 
例：In the figure above, what is the value of ?
（A）
（B）
（C）
（D）
（E）
分析：根据两对应角相等，三角形相似，可知△PQT和△PRS相似，故对应边成比例，有，选E。

 
例：The triangle above is a isosceles and AB＞AC. Which of the following must be FALSE?
（A）AC＝BC
（B）BC＝AC
（C）x＝y
（D）x＝z
（E）y＝z
分析：大边对大角，y＞z，故E必然错误。

 
例：In the figure above, what is the value of x＋y＋z?
（A）85
（B）170
（C）180
（D）255
（E）360
分析：由图可知，x，y，z是三角形的三个外角，由三角形的外角和的性质可知，选E。
 
例：The legs of right triangle ABC have length 3 and 4. What is the perimeter of a right triangle with each side triple the length of its corresponding side in △ABC?
（A）8
（B）14
（C）16
（D）24
（E）36
分析：“triple”的意思是增至3倍。依题意，待求的直角三角形，是将直角△ABC的对应边长扩大3倍后得到的，故它的周长也应是△ABC的3倍。由勾股定理，△ABC的斜边是5，周长就是12。所以所求的三角形的周长为36，选E。

 
例：In the figure above, ⊥ and ⊥. If the lengths of , , and  are each 1, what is the length of ?
（A）1
（B）2
（C）
（D）
（E）
分析：由勾股定理，PR＝＝，故PS＝＝，选E。

 
例：In the right triangle ABC，∠A＝30°，∠B＝90°，AC＝4, what is the area of △ABC?
（A）2
（B）4
（C）4
（D）8
（E）8
分析：BC＝ACsin∠A＝2, AB＝ACcos∠A＝2，因此△ABC的面积就等于BC·AB＝2，选A。
 
练习题

1．Lines l, m, and n intersects as shown above. What is the value of x?
（A）145
（B）140
（C）130
（D）125
（E）120
 
2．A triangle has side of lengths x, y, and z. Which of the following relationship among x, y, and z CANNOT be true?
（A）x＜z－y
（B）x＜z＋y
（C）y＜x＋z
（D）z＜y＋x
（E）z＞y－x
 
3．If the average of the measures of two noncongruent angles of an isosceles triangle is 65°, which of the following is the measure of one of the angles of the triangle?
（A）50°
（B）60°
（C）80°
（D）90°
（E）100°

 
4．Which of the following must be true about t, r, and x in the figure above?
（A）t＜r＜x
（B）t＜x＜r
（C）r＜t＜x
（D）x＜t＜r
（E）x＜r＜t

 
5．In △MPQ above, the measure of ∠M is 30°and the measure of ∠Q is 45°. What is the length of segment ?
（A）15
（B）20
（C）5
（D）5
（E）5＋5
 
6．The length of each side of an equilateral triangle will be doubled to create a new triangle. The area of the new triangle will be how many times the area of the original triangle?
（A）2
（B）4
（C）6
（D）8
（E）20
 
7．The lengths of the sides of an isosceles triangle are 15, n and n. If n is an integer, what is the smallest possible perimeter of the triangle?
（A）30
（B）31
（C）32
（D）34
（E）45

 
8．In △ACE above, B is the midpoint of  and D is the midpoint of . If AC＝8, CE＝12, what is the perimeter of △BCD？
 
习题解答
1．D
分析：根据两直线相交，对顶角相等以及三角形内角和的结论，可得x＝180－30－25＝125，选D。
 
2．A
分析：根据三角形三条边之间的关系可知选A。
 
3．C
分析：“congruent”是全等的意思，所以“noncongruent”表示不相等。由题意，等腰三角形2个不相等的角的和是130°，故第三个角就是50°。因为是等腰三角形，则这2个角中一定有一个等于50°，这样另外的一个角就是130°－50°＝80°，选C。
 
4．A
分析：根据三角形边角对应关系，易知选A。
 
5．E
分析：过P做PO⊥MQ，如下图所示

在直角△MOP中，MO＝MPcos∠M＝5，PO＝MPsin∠M＝5；∠Q＝45°，故直角△POQ是等腰三角形，OQ＝PO＝5，MQ＝MO＋OQ＝5＋5，选E。
 
6．B
分析：假设等边三角形的边长为a，由题意，新的三角形也是等边三角形，且边长为2a。根据三角形的正弦面积公式，新、老三角形的面积分别为（2a）2sin60°, a2sin60°，故新的面积是老的4倍，选B。
 
7．B
分析：本题n取值只有2种情况，等于15或不等于15。若n＝15，则三角形周长为45；若n≠15，则2n>15，n是整数，故满足上述不等式的最小的n为8，因此所求的三角形的最小的周长为31，选B。
 
8．15
分析：由题意，是三角形的中位线，由中位线的性质可得∥, BD＝AE＝5。两直线平行，同位角相等，有∠CBD＝∠CAE，∠CDB＝∠CEA，因此△BCD和△ACE相似。CB＝4，CD＝6，△BCD的周长为15。



第三节　多边形和四边形
多边形（polygon）：由三条或三条以上的线段首位顺次连接所组成的封闭图形叫做多边形。这些线段的连接点称为多边形的顶点（vertex），任意两个不相邻顶点的连线段称为多边形的对角线（diagonal）。
正多边形（regular polygon）：各边相等，各角也相等的多边形。
多变形的相关性质：
（1）n（n≥3）边多边形的内角和等于（n－2）×180°；
（2）n（n≥3）边多边形的外角和等于360°；
（3）n（n≥3）边多边形的一个顶点可以引出（n－3）条对角线，总共有条对角线。
梯形（trapezoid）：只有一组对边平行的四边形。平行的两边称为梯形的底边，其中长的称为下底，短的称为上底。梯形的面积＝（上底＋下底）×高÷2。
平行四边形（parallelogram）：两组对边分别平行且相等的四边形。平行四边形的面积＝底×高。
平行四边形除了满足一般多边形的性质外，还有以下性质：
（1）对角相等；
（2）相邻的两个角互补；
（3）对角线平分。

两种特殊的平行四边形：
（1）长方形（rectangle）：四个角均为直角的平行四边形。对角线平分且相等。周长＝2×（长＋宽），面积＝长×宽。
（2）正方形（square）：四条边相等，四个角均为直角的平行四边形。对角线垂直平分且相等，对角线＝边长。周长＝4×边长，面积＝边长2。

 
例：If the figure above, ∥ and ∥. What is the value of x?
（A）69
（B）81
（C）85
（D）101
（E）116
分析：ABCD是平行四边形，对角相等，故∠BAD＝∠BCD＝85。x是△ADB的外角，等于2个不相邻的内角之和，因此x＝∠ABD＋∠BAD＝101，选D。

 
例：What is the area of the six－sided figure above?
（A）26
（B）28
（C）30
（D）32
（E）34
分析：只需添加平行于底边的辅助线（虚线），就可将该6边形看成一个长方形和一个正方形，故它的面积等于长方形和正方形面积之和，即为6×2＋4×4＝28，选B。
 
例：If the length of a diagonal in a square is 6, what is the area of the square?
（A）9
（B）12
（C）16
（D）20
（E）24
分析：正方形的对角线＝边长，因此对角线2＝4×边长2，两边除以4，得到正方形的面积为9，选A。
 
例：The figure shows a trapezoid divided into three triangles. What is the area of △AOD？
（A）44
（B）46
（C）48
（D）50
（E）52

分析：由图可知△AOD的面积等于梯形ABCD的面积减去直角三角形ABO和DCO的面积，即为（6＋8）×14÷2－（8×6）÷2×2＝50，选D。

 
例：The figure above shows an arrangement of 10 squares, each with side of length k inches. The perimeter of the figure is p inches. The area of the figure is a square inches. If p＝a, what is the value of k?
分析：本题的图形由10个边长为k的正方形拼成，加粗线条的轮廓的周长为p，p＝16k。整个图形的面积a＝10k2。因为p＝a，所以16k＝10k2，。
 
练习题

1．Which of the following represents the area of the five－sided figure shown above?
（A）x2＋y
（B）x2＋3y
（C）3y－（x－3）
（D）3y＋（x－3）
（E）3y＋（x－3）2
 
2．In the figure, the perimeter of trapezoid ABCD is 34. What is the perimeter of rectangle FBCE?

（A）10
（B）14
（C）18
（D）22
（E）26
 
3．Square tiles measuring  foot by  foot are sold in boxes containing 20 tiles each. What is the least number of boxes of tiles needed to cover a rectangular floor has dimensions 12 feet by 13 feet?
（A）10
（B）16
（C）32
（D）57
（E）53

 
4．In the figure above, there are four nonoverlapping squares with areas 36, 25, 16 and 1, respectively, inside rectangle ABCD. What is the area of the shaded region?

 
5．A triangular region was cut from a rectangular piece of paper as shown above. What is the perimeter of the resulting pentagon?
 
习题解答
1．E
分析：如图所示，做一辅助线（虚线），垂直于左侧的边，则该图形的面积看成是一个等腰直角三角形和一个长方形的面积之和，即有3y＋（x－3）2，选E。

 
2．D
分析：由题意，AB＋CD＝34－AD－BC＝10。根据两个三角形的两组对应边成比例，并且相应的夹角相等，两个三角形相似这一判据，我们有△AFB相似于△DEC，则＝1AB＝CDAB＝CD＝5。利用勾股定理，可得BF＝CE＝3，长方形FBCE的周长为2×（8＋3）＝22，选D。
 
3．C
分析：由题意，每块正方形瓷砖的面积为ft2，一盒瓷砖的总面积为×20＝5ft2。长方形地板的面积为156ft2，故为了覆盖整个地板，共需要＝31.2盒瓷砖，取整为32，选C。
 
4．32
分析：阴影部分的面积等于长方形面积减去4个小正方形的面积，4个小正方形的面积已知，所以只需求出长方形的长和宽即可。显然长方形的长为6＋5＋1＝11，宽为6＋4＝10，故所求阴影部分面积为110－16－36－25－1＝32。
 
5．74
分析：“pentagon”为五角形的意思。题意为一张长方形纸片，减去一块三角形区域后，剩下的五边形的面积。显然，虚线所表示的三角形区域是个直角三角形，两条直角边分别为8－5＝3，10－6＝4，故三角形区域的面积为6，而长方形纸片的面积为80，所以五边形的面积为80－6＝74。



第四节　圆
圆（circle）：到定点距离等于定长的点的轨迹。定点称为圆心（center），定长称为半径（radius），常用字母r表示。显然，半径是圆心到圆周上任一点的距离。
弦（chord）：连接圆周上2个点的线段。
直径（diameter）：过圆心的弦。直径是半径的2倍。
圆心角（central angle）：顶点在圆心，两边是半径的角。
圆弧（arc）：圆周上任意两点间的部分。
扇形（sector）：一条弧和经过这条弧两端的两条半径所围成的图形。
圆的切线（tangent）：和圆仅有一个交点的直线，交点即为切点。过切点的半径一定和切线垂直。
圆的周长（circumference）：C＝2πr。
圆的面积（area）：A＝πr2。

 
关于圆还有以下的性质：

 

 
例：In the figure above, point A is the center of the circle and segments  and  are diameters. Which of the following statement is true?
（A）CA＞6
（B）ED＞4
（C）BA＜4
（D）CA＝4
（E）ED＝4
分析：由图可知，半径CA＝AE＝BA＝AD＝6。两直线相交，对顶角相等∠BAC＝∠DAE，故△BAC相似于△DAE，因此ED＝BC＝4，选E。
 

例：In the circle above, pentagon ABCDE is equilateral. What is the ratio of the length arc ABC to the length of arc AEC?
（A）1 to 2
（B）2 to 3
（C）2 to 5
（D）3 to 5
（E）4 to 5
分析：ABCDE是内接等边5变形，5条边将圆周平分，故ABC和AEC的比就是各自所对应的边长的比2∶3，选B。

 
例：Semicircular arcs AB, AC, BD, and CDdivide the circle above into regions. The points shown along the diameter  divide it into 6 equal parts. If AD＝6, what is the total area of the shaded regions?
（A）4π
（B）5π
（C）6π
（D）12π
（E）24π
分析：“semicircle”是半圆的意思。显然，阴影部分的面积等于大圆面积减去空白部分的面积。大圆的半径为3，大圆的面积为9π。空白部分的面积等于以AC为直径的半圆面积减去以AB为直径的半圆面积，加上以BD为直径的半圆面积减去以CD为直径的半圆面积。由于AD被6等分，所以AC＝BD＝4，AB＝CD＝2，故空白部分的面积为3π。所以阴影部分面积为9π－3π＝6π，选C。

 
例：In the figure above, the center of the circle is O and  is tangent to the circle at point B. What is the area of the shaded region?
（A）9－6π
（B）9－12π
（C）18－6π
（D）18－12π
（E）36－12π
分析：阴影部分的面积等于三角形BAO的面积减去扇形BOC的面积。由图可知OB⊥AB，三角形BAO是直角三角形，AB＝6tan60°＝6，故三角形BAO的面积为AB·OB＝18。根据扇形面积与扇形所对圆心角的比例关系，扇形BOC为·π·62＝6π，故阴影部分面积为18－6π，选C。

 
例：In the figure above, are the diameter of the 5 dotted semicircles equal and lie on line from A to B?
（A）4π
（B）8π
（C）10π
（D）12.5π
（E）20π
分析：由图可知，每个半圆的直径是4，故半圆周长是2π。从A到B的距离就是5个半圆周长之和，故选C。

 
例：The figure above shows a circle with center O and diameter . If AC＝6 and the area of the sector OBC is 2π, then x＝
（A）10
（B）40
（C）100
（D）140
（E）170
分析：易知，圆的面积为9π。，扇形所对的圆心角为80°，x＝180－80＝100，选C。
 
练习题

1．The figure above consists of four circles, each with its center on segment . Point D is the center of the largest circle. If AB＝BC＝CD＝1, what is the area of the shaded region?
（A）4π
（B）5π
（C）
（D）
（E）

 
2．In the circle above, point O is the center and  is a diameter. If the length of arc ACB is 8π, what is the length of arc AED?
（A）π
（B）
（C）2π
（D）
（E）3π
 
3．A square with an area of 4 is inscribed in a circle. What is the area of the circle?
（A）π
（B）π2
（C）2π
（D）2π
（E）4π
 
4．If the radius of a circle is doubled, by what percent is the area of the circle increased?
（A）200％
（B）300％
（C）400％
（D）500％
（E）800％

 
5．The length of a side of equilateral triangle ABC above is 6. D, E, and F are the midpoints of , , and , respectively. A, B, and C are the centers of the circles that contain arcs DF, DE, and FE, respectively. What is the perimeter of the region EDF？

 
6．In the figure above, the seven small circles, which have equal radii, and the larger circle are tangent. If the area of the large circle is 64π, what is the area of one of the small circles?
 
习题解答
1．D
分析：阴影部分面积等于以BE为直径的圆面积减去以CE为直径的圆的面积。依题意，最大圆的半径AD＝DE＝3，则BE＝5，CE＝4，故所求部分面积π2－π·22＝π，选D。
 
2．C
分析：ACB是半圆，8π是半圆周长，故圆的半径为8。∠AOD＝45°，根据弧长和弧所对应的圆心角之间的比例关系，可知AED＝2π·8·＝2π，选C。
 
3．C
分析：“inscribe”是内接的意思。如下图所示

显然，内接正方形的对角线就是圆的直径。正方形的面积为4，边长为2，对角线为2，故圆的半径为，面积为2π，选C。
 
4．B
分析：对于这一类求增加或减少的百分比的题目，可通过计算（新的量－旧的量）/旧的量来求得。假设圆的半径为r，则面积为πr2。半径翻倍后，面积为π（2r）2＝4πr2，则增加的百分比为＝3＝300％，选B。
 
5．3π
分析：因为△ABC是等边三角形，故在扇形DBE中，圆心角∠ABC＝60°，半径为BD＝3。由弧长和弧长所对应的圆心角之间的比例关系，可知DE＝2π·＝π，同理可得DF＝EF＝π，故所求区域EDF的周长为3π。
 
6．
分析：“radii”是“radius”的复数形式。易知，大圆的半径为8，中间3个小圆的直径之和就是大圆的直径16，故每个小圆的直径为，半径为，面积为。



第五节　立　　体
长方体（rectangular solid）：由6个长方形围成的立体图形。
长方体的体积（volume）：长（length）×宽（width）×高（height）
长方体的表面积（surface area）：2（长×宽）＋2（长×高）＋2（宽×高）
长方体的对角线（diagonal）：

正方体（cube）：由6个正方形围成的立体图形。
正方体方体的体积（volume）：边长（edge）×边长（edge）×边长（edge）
正方体的表面积（surface area）：6×边长2
正方体的对角线（diagonal）：×边长

球体（sphere）：空间中到定点的距离小于或等于定长的所有点组成的图形。定点称为球心（center of sphere），定长称为半径（radius），经常用字母r表示。
球体的体积（volume）：πr3
球体的表面积（surface area）：4πr2

圆柱体（cylinder）：以矩形的一边为轴使矩形旋转一周所成的立体。2个底面是圆，圆的半径称为底面半径（radius）。两个底面之间的距离称为高（height）。
圆柱体的体积（volume）：π×底面半径2×高

 
例：A cube has 2 faces painter black and the remaining faces painted white. The total area of the white faces is 100 square inches. What is the volume of the cube in cubic inches?
（A）64
（B）125
（C）128
（D）216
（E）256
分析：由题意，4个涂成白色的面的总面积为100，故每个面的面积为25，正方体的边长就为5，体积为125，选B。
 
例：The volume of a right cylinder is 125π cubic inches. If the height and base radius of the cylinder are equal, what is the height of the cylinder?
（A）4 inches
（B）5 inches
（C）6 inches
（D）8 inches
（E）12 inches
分析：假设圆柱体的底面半径和高分别为r，h。由题意，πr2h＝πh2·h＝πh3＝125πh＝5，选B。

 
例：The volume of a triangular prism is equal to the area of its base times its height. What is the volume of the prism in the figure above, if its height is 8 and its base is an equilateral triangle with side of length 20?
（A）40
（B）200
（C）400
（D）400
（E）800
分析：“triangular prism”是三角柱体的意思，题目给出了三角柱体的体积计算法，即以底面积乘以高。底面是等边三角形，根据三角形面积等于2边乘以夹角正弦的一半，可知三角柱体的体积为×202×sin60°×8＝800，选E。
 
例：A cube with volume 8 cubic centimeters is inscribed in a sphere so that each vertex of the cube touches the sphere. What is the length of the diameter, in centimeters, of the sphere?
（A）2
（B）
（C）2.5
（D）2
（E）4
分析：“inscribe”是内接的意思，由题意正方体内接于球体，则正方体的对角线就是球体的直径。正方体的体积为8，则边长为2，根据正方体对角线和边长的关系可知，球体的直径为2，选D。
 
例：Points A and B are on the surface of a sphere that has a volume of 25π cubic feet. What is the greatest possible length, in feet, of line segment ?
分析：球面上两点间最长的距离就是直径。由题意，球体的半径为5，故直径为10，即为的最大的长度。
 
练习题
1．What is the radius of the largest sphere that will fit inside a cube with edges of length 2?
（A）1
（B）
（C）
（D）2
（E）2

 
2．If a 1－inch cube of cheese were cut in half in all three directions as shown above, then the total surface area of the separated smaller cubes would be how much greater than the surface area of the original cube?
（A）2 square inches
（B）4 square inches
（C）6 square inches
（D）8 square inches
（E）12 square inches

 
3．The pyramid shown above has altitude h and a square base of side m. The four edges that meet at V, the vertex of the pyramid, each have length e. If e＝m, what is the value of h in terms of m?
（A）
（B）
（C）m
（D）
（E）m
 
4．A spherical ball of clay with radius of 2 inches contains exactly enough clay to make a brick. How many such bricks could be made using the amount of clay in a spherical ball with a radius of 4 inches?

 
5．Each of the containers shown above has a radius r of 2 inches and a height h of 4 inches. If the cone－shaped container is filled with water and this water is then poured into the empty cylindrical container, what will be the depth, in inches, of the water in the cylindrical container?
 
习题解答
1．A
分析：题目是要求一个完全含在正方体里的最大球体的最大半径。利用“投影法”将这一立体图形正面投影到平面上，得到以下图形

显然，含在正方体内的最大的球的直径就是正方体的边长2，故半径就是1，选A。
 
2．C
分析：由图可知，大的起司经过切割后变成了以为边长的8块小的正方体起司，总的表面积为8×6×＝12。而切割前，起司的表面积为6×12＝6，故切割前比切割后大6，选C。
 
3．A
分析：“pyramid”是金字塔的意思，这是一个底面为正方形的金字塔形。高，一条边，以及它们在底面交点的连线构成一个直角三角形。而这一连线显然是底面正方形的对角线的一半。由勾股定理，选A。
 
4．27
分析：由题意，一个半径为2英寸的泥球所含的泥恰好能做一块砖，问半径为6英寸的泥球所含的泥能做几块砖？半径为2英寸的泥球所含的泥为π·23。而半径为6英寸的泥球所含的泥为π·63，两式相除，可知半径为6英寸的泥球能做27块砖。
 
5．
分析：“cone”表示圆锥，即图中左边的图形。题意是将注满圆锥容器的水倒入到圆柱体容器中，求此时圆柱体容器中水的高度。通过比较2者的体积公式可知，注入圆柱体的水的体积只是整个圆柱体体积的。所以要求此时圆柱体容器中水的高度，只要用水的体积除以圆柱体的底面积即可，所以水的高度为。



第六节　解析几何
已知坐标平面（coordinate plane）内两点A（x1, y1）, B（x2, y2），有以下的事实：
（1）A, B两点间的距离（distance）：。特别地，若x1＝x2，则d＝｜y1－y2｜；若y1＝y2，则d＝｜x1－x2｜。
（2）A, B两点的中点（midpoint）的坐标（coordinates）：
（3）A, B两点的连线的斜率（slope）：
坐标平面内直线（line）的表达式：
（1）点斜式（point－slope form）：y－y0＝k（x－x0），其中（x0, y0）是直线上任一点，k是直线的斜率。k＞0，直线从左往右上升；k＜0，直线从左往右下降。
（2）斜截式（slope－intercept form）：y＝kx＋m，其中k是直线的斜率，m是直线和y轴的交点，称为直线在y轴上的截距（intercept）。
 
坐标平面内直线间的关系：
（1）两直线平行（parallel）两直线斜率相等
（2）两直线垂直（perpendicular）两直线斜率的乘积为－－
（3）由斜率的计算式可知，x轴的斜率为0，故所有平行于x轴的直线可表示为y＝c，c是直线在y轴上的截距；y轴的斜率不存在，所有有平行于y轴的直线可表示为x＝x0，x0是直线和x轴的交点。
坐标平面内圆的表达式：（x－x0）2＋（y－y0）2＝r2，其中（x0，y0）是圆心，r是半径。
 

 
例：In the figure above, AB＝CD. What is the value of t?
（A）2
（B）－2
（C）－7
（D）－10
（E）－12
分析：AB＝6－（－4）＝10, CD＝3－tt＝－7，选C。
 
例：In the xy－plane, what is the area of the square with opposite vertices at （－2, －2）and （2, 2）?
（A）4
（B）8
（C）16
（D）32
（E）64
分析：本题是已知正方形的两个相对的顶点，求正方形的面积。显然，相对顶点间的距离就是正方形的对角线长。根据正方形的对角线和边长的关系，可知，边长为4，故面积为16，选C。

 
例：On the number line above, point B is the midpoint of . If k is positive, what is the value of n?
（A）4
（B）8
（C）17
（D）
（E）
分析：依题意，，选E。
 
例：In the xy－plane, the equation of line l is x－3y＝12. Which of the following is an equation of a line that is perpendicular to line l?
（A）y＝x＋2
（B）y＝－3x＋2
（C）y＝3x－6
（D）y＝x＋6
（E）y＝－x－3
分析：将直线l写成点斜式有y＝x－4，斜率为。由两直线垂直，斜率乘积为－1可知，选B。

 
例：In the xy－plane above, line l does not contain points either quadrant II or quadrant IV. Which of the following could be the equation of line l?
（A）y＝3
（B）x＝3
（C）y＝3x
（D）y＝3x＋3
（E）y＝－3x－3
分析：“quadrant”是象限的意思。l不经过II，IV象限，则l必只经过I，III象限，且递增，斜率为正，故只有C符合要求。
 
例：In the xy－plane, a line contains the points （4, 2）, （－2, －1）and （k, 5）. What is the value of k?
（A）6
（B）7
（C）8
（D）9
（E）10
分析：由题意，三点共线，任两点连线的斜率相等，因此有，选E。

 
例：In the xy－plane above,  is tangent to the circle at point P. If （1, 4） is the center of the circle, what is the slope of ?
（A）
（B）
（C）0
（D）－
（E）－
分析：圆心和切点P的连线的斜率为。由圆的性质可知，过切点的半径必垂直于切线，故的斜率为－，选D。
 
例：In the xy－plane, the point （3, 0） is the center of a circle that has a radius of 3. Which of the following is NOT a point on the circle?
（A）（6, 0）
（B）（6, －3）
（C）（3, 3）
（D）（3, －3）
（E）（0, 0）
分析：由题意，圆方程为（x－3）2＋y2＝9。不在圆上的点一定不满足圆方程，逐一代入，可知选B。此题也可通过计算点到圆心的距离是否等于半径来求解。
 
例：In the xy－plane, the line with equation y＝8－x intersects the x－axis and y－axis at the points A and B, respectively. What is the length of line segment ?

 
例：In the xy－plane, line l has equation y＝x＋3, and line m has equation y＝x＋b. If the lines intersect at the point with coordinates , what is the value of t?
分析：联立两直线方程

 
练习题

1．Points on the line 2x－y＝1 lie in which of the quadrants shown above?
（A）I and III
（B）I and IV
（C）I, II, and III
（D）I, II, and IV
（E）I, III, and IV
 
2．In the xy－plane, the points （1, －3）, （2, 2）, and （3, p）are collinear. What is the value of p?
（A）1
（B）3
（C）4
（D）7
（E）8
 
3．In the xy－plane, lines l and m are parallel. If line l contains the points （0, 0） and （2, 1）, and line m contains points （2, 1）and （0, t）, what is the value of t?
（A）－3
（B）－2
（C）0
（D）1
（E）2

 
4．In the xy－plane above, line n is perpendicular to line l. What is the slope of line n?
（A）－3
（B）－
（C）
（D）2
（E）3

 
5．In the figure above,  is a diagonal of a square. Which of the following are the coordinates of one point on the other diagonal of the square?
（A）（6, 6）
（B）（6, 5）
（C）（1, 3）
（D）（1, 2）
（E）（0, 0）

 
6．In the xy－plane above, P is the center of a circle （not shown）. If the radius of the circle is 10, in how many points does the circle intersect the coordinate axes?
 
7．In the xy－plane, line l passed through the point （0, 1） and is parallel to the line with equation 2x＋3y＝6. If the equation of line l is y＝ax＋b, what is the value of a＋b?

 
8．In the figure above, point M is the center of the circle. What is the slope of segment ?

 
9．The coordinates （x, y）of each point on the circle above satisfy the equation x2＋y2＝25. Line l is tangent to the circle at point A. If the x－coordinate of point A is －4, what is the slope of l?
 
习题解答
1．C
分析：将直线方程写成点斜式将更容易观察，2x－y＝1y＝2x＋1。直线斜率为正，故从左至右递增，且在y轴上的截距为1，故选C。
 
2．D
分析：“collinear”是共线的意思。三点共线，故任2点连线的斜率相等，因此有，选D。
 
3．C
分析：直线l的斜率，直线m的斜率。两直线平行，故＝，t＝0，选C。
 
4．E
分析：由图可知，直线l过（0, 1），（3, 0），因此斜率为－，故由题意，直线n的斜率为3，选E。
 
5．A
分析：正方形的对角线互相垂直平分，故另一对角线一定过中点，且与垂直。的中点坐标为，设另一顶点为（x, y），则有，选A。
 
6．E
分析：本题求圆和2坐标轴总共有几个交点。由题意，圆的方程为（x－8）2＋（y－9）2＝100，分别与2坐标轴联立，求交点

总共有4个交点，选E。
 
7．
分析：将直线2x＋3y＝6改写成斜截式y＝－x＋2，斜率为－。两直线平行，斜率相等，故l的斜率也为－，所以a＝－。又l过点（0, 1），代入l的方程，得b＝1，因此a＋b＝。
 
8．
分析：由图可知，R、N的横坐标相等，直线RN⊥x轴，而MN⊥RN，故MN∥x轴。易知，圆的半径所为4，所以＝t－5＝4t＝9。所以的斜率为＝。
 
9．
分析：连接OA，由圆的性质可知过切点的半径垂直于切线。A在圆上且横坐标为－4，代入圆方程，可得A的纵坐标为3。OA的斜率为－，故切线l的斜率为。



第四章　统计、概率和逻辑推理
统计（counting）：
（1）组合（combination）：从n个总体中，选取r个个体，不考虑个体彼此间的顺序，所有可能的情况。计算公式：

（2）排列（permutation）：从n个总体中，选取r个个体，并考虑个体彼此间的顺序，所有可能的情况。计算公式：

（3）加法法则（addition principle）：完成一件事情总共有n类方法，每类方法里又分别有m1种，m2种，m3种，…，mn种方法，那么完成这件事情总共有m1＋m2＋m3＋…＋mn种方法；
（4）乘法法则（multiplication principle）：完成一件事情总共有n个步骤，每个步骤里又分别有m1种，m2种，m3种，…，mn种方法，那么完成这件事情总共有m1×m2×m3×…×mn种方法。
请注意，这2种法则的区别是：加法法则里每一类方法都能独立的完成一件事情；而乘法法则里每个步骤并不能独立的完成一件事情，而只是完成这件事情的其中一步而已。
概率（probability）：完成某件事情A的概率

 
例：Any 2 points determine a line. If there are 6 points in a plane, no 3 of which lie on the same line, how many lines are determined by pairs of these 6 points?
（A）15
（B）18
（C）20
（D）30
（E）36
分析：6个点，没有任何3个共线，那么6个点所能组成的直线数，就相当于在问在总共6个点中，选取2个点有几种选法（因为2点决定一条直线）。因此有＝15条直线，选A。
 
例：How many different positive four－digit integers can be formed if the first digit must be 2, the last digit cannot be 0, and digits may be repeated?
（A）336
（B）900
（C）1000
（D）9000
（E）10000
分析：由于4位正整数的首位数字已确定，故只需在0～9中讨论后面3位，把每一位数字的选取看成是构造这个4位数的一个步骤。第二位、第三位各有10种选择方法，最后一位不能是0，故只能在1～9中选，有9种选法。利用乘法法则，满足题目条件的4为数总共有10×10×9＝900个，选B。
 
例：Mary has a red hat, a blue hat, and a white hat. She also has three sweaters — one red, one blue, and one white, and three pairs of jeans — one red, one blue, and one white. Mary wants to wear a red, white, and blue outfit consisting of one hat, one sweater, and one pairs of jeans. How many different possibilities does she have?
（A）3
（B）6
（C）9
（D）12
（E）27
分析：我们不妨把套装的搭配看成一件完整的事情，则对于帽子、毛衣和裤子的选择就可以看成是完成这件事情的3个步骤。帽子的选取是有＝3种选择；由于要求3件单品的颜色各不相同，故毛衣的选择要避开帽子的颜色，有＝2种选择；裤子的选择要避开帽子和毛衣的颜色，故只有1种选择，利用乘法法则总共有3×2×1＝6种搭配，选B。
 
例：There are 9 buttons in a box. There are 4 blue buttons and 2 red buttons, and the rest are white. If one button is drawn at random from the bag, what is the probability that the button is white?
（A）
（B）
（C）
（D）
（E）
分析：“at random”是随机的意思，这一词组在有关概率的题目中经常出现。显然，白色的纽扣有3颗，根据概率的计算公式，计算随机取出一颗纽扣是白色的概率，只需用白色纽扣的数目除以纽扣的总数，于是选E。
 
例：If one of the positive factors of 40 is to be chosen at random, what is the probability that the chosen factor will not be a multiple of 5?
（A）
（B）
（C）
（D）
（E）
 
分析：40的所有正因子为1, 2, 4, 5, 8, 10, 20, 40，其中不是5的倍数的是1, 2, 3, 8，共4个。故任取一个，不是5的倍数的概率为，选A。
 
例：The sum of eleven different integers is zero. What is the least number of these integers that must be positive?
（A）None
（B）One
（C）Five
（D）Six
（E）Ten
分析：11个不同整数的和是0，则这11个数一定是异号的，一定有正整数。任意选取10个不同的负数或0的组合，它们的和的绝对值作为选取的正数，则这11个数的和就等于0，故最少有一个正数满足条件，选B。
 
例：The four children in the Speer family are Owen, Chadd, Steph, and Daria. Chadd is neither the youngest nor the oldest. Daria is one of the two older children. Steph is the youngest child. Owen is often taken care of by his older brother and sister. Who is the oldest child?
（A）Chadd
（B）Daria
（C）Owen
（D）Steph
（E）It can not be determined from the information given.
分析：这是一个典型的逻辑推理题，对于这样的题目需要细致的看清题目中的每一句话，找到解题的突破口是至关重要的。本题中已知Steph是最小的，Owen经常被他的大哥和大姐照顾，故Owen的年纪应该排在第三。剩下Chadd和Daria，Chadd不是最大的，Daria是最大的，选B。
Lion sometimes goes to drama movies.
Gray never goes to action movies.
 
例：If the two statements above are true, which of the following statements must also be true?
I. Lion never goes to action movies.
II. Gray sometimes goes to drama movies.
III. Lion and Gray never go to action movies together.
（A）I only
（B）II only
（C）III only
（D）I and III
（E）II and III
分析：由题目给出的说法，Lion有时去看文艺片，但他是否去看动作片并未交待；Gray从不去看动作片，但他是否去看文艺片也未交待，故I和II的说法未必正确。Gray从不去看动作片，故无论Lion是否看动作片，他俩都不可能一起看动作片，故只有与III是对的，选C。
 
All sophomores are now 16 years old.
例：Which of the following statements shows that the statement above is not true?
（A）Tim is a senior who is 18 years old.
（B）Sara is a junior who is 16 years old.
（C）Elida is a sophomore who is 16 years old.
（D）Dennis is a sophomore who is 15 years old.
（E）Luis is a freshman who is 15 years old.
分析：题目给出的说法是所有的2年级生都是16岁。而D中，Dennis是2年级生，根据上面的说法他应该是16岁，但选项中却是15岁，表明上面的说法错误，故选D。
 
If a number is in list X, it is also in list Y.
例：If the statement above is true, which of the following statements must also be true?
（A）If a number is in list Y, it is also in list X.
（B）If a number is in list Y, it is not in list X.
（C）If a number is not in list Y, it is not in list X.
（D）If a number is not in list Y, it is in list X.
（E）If a number is not in list X, it is not in list Y.
分析：根据原命题和它的逆否命题等价这一结论，可知选C。
 
例：Six different bands have been selected to march in a parade. One band has been chosen to lead the parade. In how many different orders can be remaining five bands be placed in the parade?
分析：在一支乐队已被选出在游行中带头的情况下，剩下的5支乐队的顺序可通过排列求得＝120。
 
练习题
1．A certain ice－cream parlor offers 6 different toppings for sundaes. How many combinations of 2 different toppings from those offered are possible?
（A）6
（B）12
（C）15
（D）36
（E）64
 
2．Sara's class has a reading list that consists of 5 novels and 4 biographies. Sara will select one novel and one biography from the reading list to complete an assignment. How many different selections of a novel a biography are possible?
（A）3
（B）5
（C）7
（D）10
（E）20
 
3．The digits 3, 6, 7, and 8 will be used without repetition to form different 3-digit numbers. Of all such numbers, how many are greater than 600?
（A）6
（B）12
（C）18
（D）24
（E）48
 
4．Laura mixes and matches all of her jeans, shirts, and vests to make different outfits. If she can make a total of 24 different outfits, each consisting of one pair of jeans, one shirt, and one vest, which of the following could NOT be the number of shirts that Laura has?
（A）2
（B）3
（C）4
（D）5
（E）6

5．The letters A, B, C, D, and E are to be arranged in the boxes above, one in each box, in the following way. A must be between C and D, B must be next to E, and C cannot be in the first or fifth positions. How many different arrangements of these letters are possible?
（A）1
（B）2
（C）4
（D）6
（E）8
 
6．A bag contains 4 white, 7 red, and 9 blue marbles, and there are no other marbles in the bag. If 1 marble is to be drawn at random from the bag, what is the probability that the marble drawn will be white?
（A）
（B）
（C）
（D）
（E）
 
7．Of 6 radios in a store, 2 are defective and 4 are not. A customer chooses 2 of these radios at random. If the first radio chosen is not defective, what is the probability that the second radio chosen is defective?
（A）
（B）
（C）
（D）
（E）
 
8．The digits 1, 2, 3, and 4 are to be arranged randomly to make a positive four－digit integer. What is the probability that the digits 2, 3, and 4 will be directly next to each other?
（A）
（B）
（C）
（D）
（E）
 
9．The integers 1 through 6 appear on the six faces of a cube, one on each face. If three such cubes are rolled, what is the probability that the sum of the numbers on the top faces is not 17 or 18?
（A）
（B）
（C）
（D）
（E）
 
10．A list consists of 14 consecutive positive integers. Which of the following could be the number of integers in the list that are divisible by 13?
I．None
II．One
III．Two
（A）I
（B）II
（C）I and II
（D）II and III
（E）I, II, and III
 
11．Mary, John, and Roberto each have a different report to write. One report is for calculus, one is for physics, and one is for French. The reports are due next week on three different days — Tuesday, Wednesday, and Friday. Mary's report is due before Roberto's, but after the physics report. Roberto is not writing a report for calculus. For which course and on what day is John's report due?
	
	Course
	Due Date

	（A） 	Calculus 	Tuesday 
	（B） 	Calculus 	Wednesday 
	（C） 	French 	Wednesday 
	（D） 	Physics 	Tuesday 
	（E） 	Physics 	Wednesday 

 
12．For their graduation ceremony, the 100 students in Mike's senior class were each assigned a different whole number from 1 to 100. Mike and his classmates entered the auditorium in numerical order, and every 20 students filled a different row, maintaining that order. There were aisles on both ends of each row, and only one student sat between Mike and the aisle. Which of the following cannot be Mike's number?
（A）19
（B）42
（C）59
（D）69
（E）82
 
13．Deer will come into the Joshua's flower garden and eat the flowers only when either daisies or roses are growing in their garden. However, deer will not come into their garden and eat the flowers if their dog is in the yard next to the garden. Which of the following statements must be true?
（A）If the deer did not eat the Joshua's flowers today, then roses are not growing in their garden.
（B）If the deer ate the Joshua's flowers today, then their dog was not in the yard next to their garden.
（C）If the Joshua's dog is not in the yard next to their garden today, then the deer will eat their flowers.
（D）If the Joshua's dog is in the yard next to their garden today, then daisies are not growing in their garden.
（E）If daisies are growing in the Joshua's garden today, then the deer will eat their flowers.
 
14．What is the greatest four－digit integer that meets the following three restrictions?
I．All of the digits are different.
II．The greatest digit is the sum of the other three digits.
III．The product of the four digits is divisible by 10 and not equal to zero.
 
习题解答
1．C
分析：这是一个典型的组合题，6取2问总共有几种情况。＝15，选C。
 
2．E
分析：Sara必须选择一本小说，一本传记去读才算完成任务。我们可把对于小说和传记的选择看成是完成任务的2个步骤。小说有＝5种选择，传记有＝4种选择，利用乘法法则，总共有20种选择，选E。
 
3．B
分析：要使由这4个数字组成的3位数大于600，则百位数只能选择7或8。当百位数是7时，剩下的2个数字就从余下的3个数字里选取，并且同样的2个数字要考虑顺序，因此有P23＝6种组合。同理，可以得出当百位数字是8时也6种组合，故大于600的组合总共有12种，选B。
 
4．D
分析：由题意，套装的搭配可以看成是由选择裤子、衬衫和马甲这3个步骤组成。利用乘法法则，每个步骤包含的单品的选取数目相乘得到套装的总的搭配数24，所以单品的数目必是24的因子，可知只有D不符合条件。
 
5．C
分析：由题意，A在C和D中间，所以不可能在1号位，C也不可能在1号位。B、E必须相邻，所以可以把B、E暂时看成一个字母参加排列。
（1）当1号位是B时，2号位必是E，剩下的3个位置根据题意必然是C、A、D的排列。于是就得到了1种排列次序。
（2）当1号位是D时，2、3号位必是A、C。剩下的2个位置B、E可以交换次序进行排列，所以总共有2种排列次序。
（3）当1号位是E时，2号位必是B，剩下的3个位置根据题意必然是C、A、D的排列。于是就得到了1种排列次序。
综上，总共有4种排法，选C。
 
6．C
分析：要求随机取出的弹珠是白色的概率，只需用白色弹珠的数量除以弹珠总数，易知选C。
 
7．B
分析：若第一台选取的不带瑕疵，则第二次选取时总共还有5台收音机可选，且带瑕疵的还有2台，故第二台带瑕疵的概率为，选B。
 
8．E
分析：“be directly next to each other”可理解为2，3，4这3个数在组成的4位数中必须排在一起。把这3个数“打包”看成一个整体，于是4位数的组成就可以看成是1和这3个数字的打包之间的组合，根据左右关系显然有2种情况：1在左，打包在右；1在右，打包在左。在每种情况的打包内部，这3个数字可以有一个排列＝6，于是总共有12个符合条件的4位数。而这4个数字本来的排列总共有＝24，故所求的概率为，选E。
 
9．B
分析：如把掷得的点数之和是17或18点看成一种情况的话，则一次投掷所得数字之和只有2种情况：是17或18点，是17或18点以外的点数。因此，计算是17或18点以外的点数的概率只需用1减去是17或18点的概率。
3个正方体一起掷，若3个正方体的数字之和是17点，就要求有一个是5点，其余2个是6点，这样的情况有3种；若3个正方体的数字之和是18点，则只有一种情况，即3个正方体都出现数字6。而根据乘法法则，3个正方体一起掷，所有可能的情况是6×6×6＝216，于是所求的概率为，选E。
 
10．D
分析：我们知道能被13整除的数一定是13的倍数。当13的某个倍数作为14个连续整数的第一个数时，则相邻的13的倍数也一定含在这14个数里，所以在这种情况下14个数里就有2个13的倍数。当13的某个倍数不是14个连续整数的第一个数时，相邻的倍数就不含在这14个数里，故此时只有一个13的倍数。选D。
 
11．D
分析：由题意，Mary的报告在Roberto之前，在物理报告之后，而Roberto不写微积分报告，故Roberto写的是法语报告，Mary写的是微积分报告，John写的是物理报告且交报告的日期是三天中第一天，也就是周二。选D。
 
12．D
分析：由题意，100个学生每人一个号，号码从1到100。在坐位子的时候，每个人按照领到号码的大小次序坐，每一行有20个位子，故第一行的学生是1到20号，第二行的学生是21到40号，以此类推。Mike和过道中间隔了一个同学，且座位2端都有过道，若Mike坐在第一排，则他的号码可能是2号或19号。每一行的人数是20，若Mike在第二行，则他的号码只要在这2个号码上分别加上20即可，即有22，39，同理我们可以得出Mike在其他几行的号码为，42，59或62，79或82，99，故选D。
 
13．B
分析：由题意，鹿进到院子里偷吃有必须2个条件：（1）院子里的雏菊或玫瑰花长出来了；（2）花园隔壁院子里的狗不在。（A）有可能是狗在院子里，所以鹿没偷吃。（C）狗不在院子里，如果花没长出来，鹿也不会进来偷吃。（D）狗在院子里，鹿就不会进来偷吃，雏菊就能正常生长。（E）鹿即吃雏菊也吃玫瑰花。只有（B）正确，鹿偷吃，说明狗不在。
 
14．8521
分析：若千位数是9，由条件，其他3个数字不重复，和为9，积为10的倍数，可能的组合为1，2，6或1，3，5或2，3，4。显然没有符合条件3的组合。若千位数为8，则可能的组合为1，2，5或1，3，4，则满足条件且最大的4位数为8521。



第五章　图表题

 
例：The figure above shows the times Titus and Mary spent traveling by four different modes of travel. Titus and Mary traveled by car at the same average rate. Titus traveled 20 miles by car. Of the following, which is the best approximation for how far Mary traveled by car?
（A）15 miles
（B）30 miles
（C）45 miles
（D）60 miles
（E）75 miles
 
分析：由图表可知，Titus驾车行驶了30分钟，他的车速为miles/min，2人的驾车旅行的车速一致，且根据图表Mary驾车时间约为45分钟，所以Mary驾车行驶的路程约为45×＝30 miles，选B。
 
例：The pictogram below shows the number of new homes built in Cityville for each of four different time periods from 1961 to 2000. How many new homes were built from 1971 to 2000?
（A）14
（B）30
（C）16000
（D）20000

（E）56000
 
分析：从1971年到2000年总共有28个符号，每个符号代表2000间房，所以总共建造了56000间房，选E。

 
例：A biology teacher graphed the length of a fish over time, and the results are shown above. If L represents the length of the fish in millimeters and W represents the number of the week, which of the following equations best describes the data shown?
（A）L＝W
（B）L＝10
（C）L＝W＋10
（D）L＝10W
（E）L＝10W＋10

 
例：The line graph above shows the average daily use of electricity, in kilowatt－hours, by a family for each month of a year, starting in July. For how many months of the year was the family's average daily use of electricity less than 20 kilowatt－hours?
（A）One
（B）Two
（C）Three
（D）Five
（E）Eight
分析：由图可知，日均用电量不到20千瓦时的月份有3个月，选C。


 
例：Five students sold candy bars for a total of $400 over a 5－day period to raise money for their debate team. The circle graph above shows each student's sales as a percent of the total dollar sales. The bar graph shows the sales of one student over the five days. The sales of which student are represented by the bar graph?
（A）Tim
（B）Ned
（C）Marta
（D）Kevin
（E）Laura
分析：由饼图可知，Tim卖了$40，Ned卖了$60，Marta卖了$80，Kevin卖了$100，Laura卖了$120。由条状图可知，某个学生5天总共卖了$60，故选B。

 
例：One end of an 80-inch-long paper strip is shown in the figure above. The notched edge, shown in bold, was formed by removing an equilateral triangle from the end of each 4-inch length on one edge of the paper strip. What is the total length, in inches, of the bold notched edge on the 80-inch paper strip?
分析：80英寸长的纸带上，取4英寸每小段，在每段的最后1英寸处减去一个等边三角形，这样总共减去了20个三角形。和原来相比，每小段锯齿边的长度比原来多了1英寸，总共多了20英寸，故锯齿边的总长度为100英寸。
 
练习题

1．The pictogram above shows the number of visits Cora's Craft Corner Web site received in each of 5 days. What is the average number of visits the site received per day for the 5 days?
（A）8000
（B）6000
（C）4000
（D）2400
（E）1600
 
Questions 2－3 refer to the following graph.

The line graph above shows the number of cars Cathy sold in each of the first six months of 2003.
 
2．How many more cars did Cathy sell in the month of May than in the months of January and February combined?
（A）10
（B）15
（C）20
（D）25
（E）30
 
3．If the car sales data from these six months were illustrated by a circle graph, what would be the measure of the central angle of the sector that represents the month of April?
（A）30°
（B）45°
（C）60°
（D）108°
（E）120°
ANNA'S DAILY SERVINGS OF FRUITS AND VEGETABLES

 
4．A nutrition expert recommends that a person eat a minimum of 5 servings of fruits or vegetables a day：these 5 servings are to include at least 2 servings of fruit and at least 2 servings of vegetables. On how many days listed in the table above did Anna satisfy all the recommendations of the nutrition expert?
（A）One
（B）Two
（C）Three
（D）Four
（E）Five
 
5．The graph below shows how the level of water in a holding tank changed as water drained into and out of the tank. During which time period did the water level in the holding tank chang most rapidly?
（A）Between  p.m. and  p.m.
（B）Between  p.m. and  p.m.
（C）Between  p.m. and  p.m.

（D）Between  p.m. and  p.m.
（E）Between  p.m. and  p.m.
 

 
6．The scatter plot above gives the altitude and temperature of 8 locations at a given time. If a is the altitude, in kilometers, and t is the temperature, in degrees Celsius, which of the following linear equations best models temperature as a function of altitude for this data?
（A）t＝－a＋1
（B）t＝－2a＋7
（C）t＝－2a＋13
（D）t＝－7a＋7
（E）t＝－7a＋13
 
习题解答
1．E
分析：本题是求平均数，总共有20个符号，每个符号代表400个参观者，故5天总共有8000个参观者，每天参观者的平均数为1600，选E。
 
2．A
分析：由图已知，5月份的销量是48，1、2月份的总销量为38，故5月比1、2月的总和大10，选A。
 
3．C
分析：由图已知，前6个月的总销量为180，而4月的销量为30，占了总量的。当用饼图表示时，代表4月销量的扇形的中心角就应是×360°＝60°，选C。
 
4．C
分析：营养师建议，一个人每天要吃5种水果和蔬菜的组合，其中蔬菜和水果各自至少也要吃2种。由表可知，Anna满足营养师建议的有3天，选C。
 
5．B
分析：变化快慢问题其实就是求单位时间内变化率的大小。利用变化量除以时间间隔，可知选B。
 
6．E
分析：对于这一类用函数拟合数据的问题，只要在图像上找出几个关键点，代入到待选的拟合函数中，利用排除法选出正确答案。本题中，取3个点（15，0），（2，0）和（4，－15）逐一代入选项，可知选E。



附录1



PRACTICE TEST 1
 
SECTION 1
Time—25 minutes
18 Questions
 


4, 11, 18, ...
1．In the sequence above, the first erm is 4 and each term after the first is 7 more than the previous term. What is the 12th term of the sequence
（A）77
（B）81
（C）84
（D）86
（E）92
 
2．If （x－2）2＝49, then x could be
（A）－9
（B）－7
（C）2
（D）5
（E）9
 
3．The average of t and y is 15, and the average of w and x is 15. What is the average of t, w, x, and y?
（A）7.5
（B）15
（C）22.5
（D）30
（E）60
 
All of Kay's brothers can swim.
4．If the statement above is true, which of the following must also be true?
（A）If Fred cannot swim, then he is not Kay's brother.
（B）If Dave can swim, then he is not Kay's brother.
（C）If Walt can swim, then he is Kay's brother.
（D）If Pete is Kay's brother, then he cannot swim.
（E）If Mark is not Kay's brother, then he cannot swim.

 
5．In the figure above, triangle ABC is inscribed in the circle with center O and diameter . If AB＝AO, what is the degree measure of ∠ABO?
（A）15°
（B）30°
（C）45°
（D）60°
（E）90°
 
6．Each of the following is equivalent to （bc＋k） EXCEPT
（A）
（B）
（C）（k＋bc）
（D）ac＋
（E）

 
7．In the figure above, , , and  intersect at P. If r＝90, s＝50, t＝60, u＝45, and w＝50, what is the value of x?
（A）45
（B）50
（C）65
（D）75
（E）It can not be deter mined from the information given.

 
8．Based on the portions of the graphs of the functions f and g shown above, what are all values of x between －6 and 6 for which g（x）>f（x）?
（A）－6＜x＜3 only
（B）－3＜x＜0 only
（C）0＜x＜3 only
（D）3＜x＜6 only
（E）－6＜x＜－3 and 0＜x＜3
 
9．When his son's class held its magazine drive, Dr.Nelson bought 7 one－year magazine subscriptions for the waiting room in his office. He bought 4 subscriptions that have 12 issues per year, 2 subscriptions that have 4 issues per year, and 1 subscription that has 52 issues per year. Altogether, how many magazines will his office receive from these subscriptions?
 
10．Three more than twice a number is equal to 4. What is the number?
 
SALES OF BOOK B

 
11．The table above shows the total number of copies of Book B that were sold by the end of each of the first 5 weeks of its publication. How many copies of the book were sold during the 3rd of its publication?
 
12．If ＝32 and k＝, what is the value of j?
 
x＋y＋3z＝600
x＋y＋z＝400
 
13．In the system of equations above, what is the value of x＋y?
 
14．There are 25 trays on a table in the cafeteria. Each tray contains a cup only, a plate only, or both a cup and a plate. If 15 of the trays contain cups and 21 of the trays contain plates, how many contain both a cup and a plate?

 
15．In the figure above, line l intersects the x-axis at x＝－2 and the y-axis at y＝－3. If line m （not shown） passes through the origin and is perpendicular to line l, what is the slope of line m?
 
16．If 6＜｜x－3｜＜7 and x＜0, what is one possible value of ｜x｜?
 
17．What is the product of the smallest prime number that is greater than 50 and the greatest prime number that is less than 50?

 
18．In the figure above, PQRS is a rectangle. The area of △RST is 7 and PT＝PS. What is the area of PQRS?
 



SECTION 2
Time—25 minutes
20 Questions
 


1．If 10＋x is 5 more than 10, what is the value of 2x?
（A）－5
（B）5
（C）10
（D）25
（E）50
 
2．The result when a number is divided by 2 is equal to the result when that same number is divided by 4. What is that number?
（A）－4
（B）－2
（C）0
（D）2
（E）4

 
3．If this page was folded along the dotted line in the figure above, the left half of the letter W would exactly coincide with the right half of W. Which of the following letters, as shown, CANNOT be folded along a vertical line so that its left half would coincide with its right half?
（A）A
（B）I
（C）O
（D）U
（E）E

 
4．In the figure above, lines l and k intersect at point Q. If m＝40 and p＝25, what is the value of x?
（A）15
（B）20
（C）25
（D）40
（E）65

 
5．Which of the following equations is satisfied by the five pairs of numbers listed in the table above?
（A）y＝x3＋3
（B）y＝3x＋3
（C）y＝－3x＋6
（D）y＝x2＋6
（E）y＝x2－7

 
6．The circle graph above shows how David's monthly expenses are divided. If David spends $450 per month for food, how much does he spend per month on his car?
（A）$200
（B）$320
（C）$360
（D）$400
（E）$450
 
7．If n and k are positive integers and 8n＝2k, what is the value of ?
（A）
（B）
（C）
（D）3
（E）4
 
8．In a certain store, the regular price of a refrigerator is $600. How much money is saved by buying this refrigerator at 20 percent off the regular price rather than buying it on sale at 10 percent off the regular price with an additional discount of 10 percent off the sale price?
（A）$6
（B）$12
（C）$24
（D）$54
（E）$60
 
9．If the function f is defined f（x）＝3x＋4, then 2f（x）＋4＝
（A）5x＋4
（B）5x＋8
（C）6x＋4
（D）6x＋8
（E）6x＋12
 
10．What is the greatest possible area of a triangle with one side of length 7 and another side of length 10?
（A）17
（B）34
（C）35
（D）70
（E）140
 
11．A total of 120000 votes were cast for 2 opposing candidates, Garcia and Perez. If Garcia won by a ratio of 5 to 3, what was the number of votes cast for Perez?
（A）15000
（B）30000
（C）45000
（D）75000
（E）80000
 
12．If a positive integer n is picked at random from the positive integers less than or equal to 10, what is the probability that 5n＋3≤14?
（A）0
（B）
（C）
（D）
（E）
 
13．If t is a number greater than 1, then t2 is how much greater than t?
（A）1
（B）2
（C）t
（D）t（t－1）
（E）（t－1）（t＋1）
 
14．The height of a right circular cylinder is 5 and diameter of its base is 4. What is the distance from the center of one base to a point on the circumference of the other base?
（A）3
（B）5
（C）
（D）
（E）
 
15．If p and n are integers such that p＞n＞0 and p2－n2＝12, which of the following can be the value of p－n?
I．1
II．2
III．4
（A）I only
（B）II only
（C）I and II only
（D）II and III only
（E）I, II, and III
 
Questions 16-18 refer to the following figure and information.

 
The grid above represents equally spaced streets in a town that has no one－way streets. F marks the corner where a firehouse is located. Points W, X, Y, and Z represent the locations of some other buildings. The fire company defines a building's m－distance as the minimum number of blocks that a fire truck must travel from the firehouse to reach the building. For example, the building at X is an m－distance of 2, and the building at Y is an m－distance of  from the firehouse.
 
16．What is the m－distance of the building at W from the firehouse?
（A）2
（B）2
（C）3
（D）3
（E）4
 
17．What is the total number of different routes that a fire truck can travel the m－distance from F to Z?
（A）Six
（B）Five
（C）Four
（D）Three
（E）Two
 
18．All of the buildings in the town that are an m－distance of 3 from the firehouse must lie on a
（A）circle
（B）square
（C）right isosceles triangle
（D）pair of intersecting lines
（E）line
 
19．If x and y are positive integers, which of the following is equivalent to （2x）3y－（2x）y?
（A）（2x）2y
（B）2y（x3－xy）
（C）（2x）y［（2x）2y－1］
（D）（2x）y（4xy－1）
（E）（2x）y［（2x）3－1］
 
20．If j, k, and n are consecutive integers such that 0＜j＜k＜n and the units digit of the product jn is 9, what is the units digit of k?
（A）0
（B）1
（C）2
（D）3
（E）4
 



SECTION 3
Time—20 minutes
16 Questions
 


1．On Wednesday Heather ran 3 miles in 30 minutes. If she ran for 45 minutes at this rate on Thursday, how far did Heather run on Thursday?
（A）3.5 miles
（B）4 miles
（C）4.5 miles
（D）5 miles
（E）5.5 miles
 
2．If （2m）k＝6, then mk＝
（A）3
（B）4
（C）5
（D）6
（E）12
 
3．If 3 times a number is equal to , what is the number?
（A）
（B）
（C）
（D）2
（E）3

 
4．In the figure above, CDE is an equilateral triangle and ABCE is a square with an area of 1. What is the perimeter of polygon ABCDE?
（A）4
（B）5
（C）6
（D）7
（E）8
 

 
5．On the number line above, the tick marks are equally spaced and their coordinates are shown. Of these coordinates, which has the smallest positive value?
（A）a
（B）b
（C）c
（D）d
（E）e
 
10, 18, 4, 15, 3, 21, x
6．If x is the median of the 7 numbers listed above, which of the following could be the value of x?
（A）5
（B）8
（C）9
（D）14
（E）16
 
7．Two spheres, one with radius 7 and one with radius 4, are tangent to each other. If P is any point on one sphere and Q is any point on the other sphere, what is the maximum possible length of ?
（A）7
（B）11
（C）14
（D）18
（E）22
 
NUMBER OF PREMIUM MEMBERS

AVERAGE NUMBER OF VIDEO RENTALS PER PREMIUM MEMBER AT STORE B

 
8．The first table above shows the number of premium members at two video rental stores, A and B, during the years 2000-2002. The second table shows the average number of video rentals per premium member at store B during each of those years. Based on this information, which of the following best approximates the total number of video rentals by premium members at store B during the years 2000-2002?
（A）24000
（B）46000
（C）58000
（D）70000
（E）130000

 
9．In △ABC above, AB＝AC, E is the midpoint of , and D is the midpoint of . If AE＝x and ED＝4, what is the length of BC?
（A）6
（B）8
（C）2x
（D）4x
（E）4x2
 
10．A student was given a piece of rope and told to cut it into two equal pieces, keep one piece, and pass the other piece to the next student. Each student was to repeat this process until every student in the class had exactly one piece of rope. Which of the following could be the fraction of the original rope that one of the students had?
（A）
（B）
（C）
（D）
（E）
 
11．Whcih of the following is the graph of a function f such that f（x）＝0 for exactly two values of x between-5 and 5?

 

12．If x＝20 and y＝30 in the figure above, what is the value of z?
（A）60
（B）70
（C）80
（D）90
（E）100
 
13．If x and y are integers, 7＜y＜16, and ＝, how many possible values are there of x?
（A）One
（B）Two
（C）Three
（D）Four
（E）Five

 
14．Point O is the center of both circles in the figure above. If the circumference of the large circle is 36 and the radius of the small circle is half of the radius of the large circle, what is the length of the darkened arc?
（A）10
（B）8
（C）6
（D）4
（E）2
 

 
15．The graph above shows the number of George's unsold candy bars over a 10-day period. The points on the graph all lie on which of the following lines?
（A）y＝10x－120
（B）y＝10x＋120
（C）y＝12x－120
（D）y＝120－10x
（E）y＝120－12x
 
16．Let ▲x be defined as x＋ for all nonzero integers. If ▲x＝t, where t is an integer, which of the following is a possible value of t?
（A）1
（B）0
（C）－1
（D）－2
（E）－3



PRACTICE TEST 2
 
SECTION 1
Time—25 minutes
18 Questions
 


1．If x＋k＝12 and p（x＋k）＝36, what is the value of p?
（A）3
（B）4
（C）6
（D）9
（E）12
 
2．If 3 is added to one－half of a certain number, the result is 37. What is the original number?
（A）24
（B）40
（C）48
（D）61
（E）80

 
3．In the figure above, the usual route from Town A to Town D is indicated by the solid line. The broken line indicates a detour route from B to C through E. Each line segment is labeled with its length in miles. How many more miles is the trip from Town A to Town D via the detour than via the usual route?
（A）4
（B）8
（C）10
（D）12
（E）18

 
4．Which of the following equations expresses y in terms of x for each of the four pairs of values shown in the table above?
（A）y＝5x＋7.5
（B）y＝5.5x＋2
（C）y＝5.5x＋7.5
（D）y＝7.5x
（E）y＝7.5x＋5.5

 
5．In the figure above, point B lies on . If x and y are integers, which of the following is a possible value of x?
（A）30
（B）35
（C）40
（D）50
（E）55
 
6．The least and greatest numbers in a list of 7 real numbers are 2 and 20, respectively. The median of the list is 6, and the number 3 occurs most often in the list. Which of the following could be the average of the numbers in the list?
I．7
II．8.5
III．10
（A）I only
（B）I and II only
（C）I and III only
（D）II and III only
（E）I, II, and III
 
7．In the xy－coordinate plane, how many points are a distance of 4 units from the origin?
（A）One
（B）Two
（C）Three
（D）Four
（E）More than four
 

 
8．The table above shows the number of consecutive nights that each of five families stayed at a certain hotel during a 14-night period. If the Liu family's stay did not overlap with the Benton family's stay, which of the 14 nights could be a night on which only one of the five families stayed at the hotel?
（A）The 3rd
（B）The 5th
（C）The 6th
（D）The 8th
（E）The 10th
 
9．If a cake is cut into thirds and each third is cut into fourths, how many pieces of cake are there?
 
10．If y＝, where h is a constant, and if y＝3 when x＝4, what does y equal when x＝6?

 
11．In the figure above, point B lies on side . If 55＜x＜60, what is one possible value of y?
 
12．The price of a certain item was $10 in 1990 and it has gone up by $2 per year since 1990. If this trend continues, in what year will the price be $100?

 
13．The figure above shows the graph of a quadratic function in the xy-plane. Of all the points （x, y） on the graph, for what value of x is the value of y greatest?
 
14．The number n is a 2-digit number. When n is divided by 10, the remainder is 9, and when n is divided by 9, the remainder is 8. What is the value of n?

 
15．The area of the figure above is . What is the perimeter of the figure?
 
16．If j is chosen at random from the set {4, 5, 6} and k is chosen at random from the set {10, 11, 12}, what is the probability that the product of j and k is divisible by 5?
 
17．Tom and Alison are both salespeople. Tom's weekly compensation consists of $300 plus 20 percent of his sales. Alison's weekly compensation consists of $200 plus 25 percent of her sales. If they both had the same amount of sales and the same compensation for a particular week, what was that compensation, in dollars?
 
tx＋12y＝－3
18．The equation above is the equation of a line in the xy-plane, and t is a constant. If the slope of the line is -10, what is the value of t?



SECTION 2
Time—25 minutes
20 Questions
 


1．When 70000 is written as 7.0×10n, what is the value of n?
（A）1
（B）2
（C）3
（D）4
（E）5
 
2．On a car trip Sam drove m miles, Kara drove twice as many miles as Sam, and Darin drove 20 fewer miles than Kara. In terms of m, how many miles did Darin drive?
（A）2m＋20
（B）2m－20
（C）＋20
（D）
（E）－20
 
3．If x and y are positive integers, what are all the solutions （x, y） of the equation 3x＋2y＝11?
（A）（1, 4）only
（B）（3, 1）only
（C）（1, 4）and（2, 2）
（D）（1, 4）and（3, 1）
（E）（2, 2）and（3, 1）
 
4．A company's profit, P, in dollars, for producing x machines in one day is given by P＝500x－20x2. If the company produces 10 machines in one day, then, according to this formula, what is the profit for that day?
（A）$5000
（B）$4000
（C）$3000
（D）$2000
（E）$1000
 
12－n, 12, 12＋n
5．What is the average of the 3 quantities in the list above?
（A）4
（B）12
（C）18
（D）4＋
（E）12＋

 
6．In isosceles triangle ABC above, and  are the angle bisectors of angle BAC and angle BCA. What is the measure of angle AMC?
（A）110°
（B）115°
（C）120°
（D）125°
（E）130°
 
7．A fruit salad is made from pineapples, pears, and peaches mixed in the ratio of 2 to 3 to 5, respectively, by weight. What fraction of the mixture by weight is pineapple?
（A）
（B）
（C）
（D）
（E）

 
8．In the figure above, square RSTU is inscribed in the circle. What is the degree measure of arc ST?
（A）45°
（B）60°
（C）90°
（D）120°
（E）180°
 
9．If P and Q are two sets of numbers, and if every number in P is also in Q, which of the following CANNOT be true?
（A）4 is in both P and Q.
（B）5 is in neither P nor Q.
（C）6 is in P, but not in Q.
（D）7 is in Q, but not in P.
（E）If 8 is not in Q, then 8 is not in P.
 
10．What is the maximum number of rectangular blocks measuring 3 inches by 2 inches by 1 inch that can be packed into a cube－shaped box whose interior measures 6 inches on an edge?
（A）24
（B）28
（C）30
（D）36
（E）40
 
11．If a≠0 and , what is the value of x?
（A）－5
（B）－1
（C）1
（D）2
（E）5

 
12．The figure above is composed of 25 small triangles that are congruent and equilateral. If the area of △DFH is 10, what is the area of
△AFK?
（A）40
（B）42.5
（C）50
（D）52.5
（E）62.5
 
3x＋2y＋2z＝19
3x＋y＋z＝14
13．If the equations above are true, which of the following is the value of y＋z?
（A）－5
（B）－4
（C）0
（D）4
（E）5
 
14．A boat costs x dollars, and this cost is to be shared equally by a group of people. In terms of x, how many dollars less will each person contribute if there are 4 people in the group instead of 3?
（A）
（B）
（C）
（D）
（E）7x
 
15．If y＝2x＋3 and x＜2, which of the following represents all the possible values for y?
（A）y＜7
（B）y＞7
（C）y＜5
（D）y＞5
（E）5＜y＜7

 
16．The graphs of the functions f and g in the interval from x＝－2 to x＝2 are shown above. Which of the following could express g in terms of f?
（A）g（x）＝f（x＋1）
（B）g（x）＝f（x）＋1
（C）g（x）＝f（x＋1）＋1
（D）g（x）＝f（x－1）
（E）g（x）＝f（x）－1

 
17．In the figure above, a shaded polygon which has equal sides and equal angles is partially covered with a sheet of blank paper. If x＋y＝80, how many sides does the polygon have?
（A）Ten
（B）Nine
（C）Eight
（D）Seven
（E）Six
 

 
18．If s, t, u, and v are the coordinates of the indicated points on the number line above, which of the following is greatest?
（A）｜s＋t｜
（B）｜s＋v｜
（C）｜s－t｜
（D）｜s－v｜
（E）｜s＋u｜
 

 
19．On the day of a rainstorm, the depth of the water at a certain location along the Winding River was recorded hourly, and the results are indicated in the line graph above. Each unit on the vertical axis represents 1 foot. If the depth of the water decreased 10 percent from  p.m. to  p.m., what was the depth of the water at  p.m.?
（A）3 feet
（B）15 feet
（C）18 feet
（D）20 feet
（E）30 feet
 
20．For all numbers a and b, let a▲b be defined by a▲b＝ab＋a＋b. For all numbers x, y, and z, which of the following must be true?
I．x▲y＝y▲x
II．（x－1）▲（x＋1）＝（x▲x）－1
III．x▲（y＋z）＝（x▲y）＋（x▲z）
（A）I only
（B）II only
（C）III only
（D）I and III only
（E）I, II, and III



SECTION 3
Time—20 minutes
16 Questions
 


1．If y＋9＝0, then y＝
（A）－27
（B）－9
（C）－3
（D）3
（E）27

 
2．In the figure above, P, Q, and R lie on the same line. P is the center of the larger circle, and Q is the center of the smaller circle. If the radius of the larger circle is 4, what is the radius of the smaller circle?
（A）1
（B）2
（C）4
（D）8
（E）16
 
3．Roy planted corn on  of his land. If he planted 45 acres of corn, how many acres of land does he have?
（A）90
（B）112
（C）135
（D）225
（E）337
 
6, 10, 18, 34, 66
4．The first number in the list above is 6. Which of the following gives a rule for finding each successive number in the list?
（A）Add 4 to the preceding number.
（B）Take  of the preceding number and then add 7 to that result.
（C）Double the preceding number and then subtract 2 from that result.
（D）Subtrct 2 from the preceding number and then double that result.
（E）Triple the preceding number and then subtract 8 from that result.

 
5．The two semicircles in the figure above have centers R and S, respectively. If RS＝12, what is the total length of the darkened curve?
（A）8π
（B）9π
（C）12π
（D）15π
（E）16π
 
6．If h and k are positive numbers and h＋k＝7, then ＝
（A）1
（B）0
（C）－1
（D）h
（E）k－1

7．The table above shows the populations of two countries and their population densities. The number of square miles in the area of Country B is approximately how much greater than the number of square miles in the area of Country A?
（A）200
（B）3600
（C）5000
（D）8000
（E）905000000
 
8．If x2＝x＋6, which of the following must be true?
（A）x＝6
（B）x＜3
（C）x＞0
（D）x2＜x
（E）x2＞x
 
9．Let the function f be defined by f（x）＝5x－2a, where a is a constant. If f（10）＋f（5）＝55, what is the value of a?
（A）－5
（B）0
（C）5
（D）10
（E）20
 
10．A number is called "even-odd" if it is halfway between an even integer and an odd integer. If x is an even-odd number, which of the following must be true?
I．2x is an integer.
II．2x is even-odd.
III．x is halfway between two even integers.
（A）I only
（B）II only
（C）I and II only
（D）II and III only
（E）I, II, and III
 
11．If m is a positive integer, which of the following is NOT equal to （24）m?
（A）24m
（B）42m
（C）2m（23m）
（D）4m（2m）
（E）16m
 

 
12．According to the graph above, in which year was the ratio of the number of students enrolled at School B to the number of students enrolled at School A the greatest?
（A）1990
（B）1991
（C）1992
（D）1993
（E）1994
 

 
13．In the figure above, l∥m. Which of the following must equal 180?
（A）k＋n＋r
（B）k＋p＋s
（C）n＋p＋s
（D）n＋p＋t
（E）r＋s＋t
 
14．How many different ordered pairs （x, y） are there such that x is an even integer, where 4≤x≤10, and y is an integer, where 4＜y＜10?
（A）8
（B）12
（C）20
（D）30
（E）36
 
n（t）＝500（0.81）t
15．The function above can be used to model the population of a certain endangered species of animal. If n（t） gives the number of the species living t decades after the year 1990, which of the following is true about the populating of the species from 1900 to 1920?
（A）It increased by about 1000.
（B）It increased by about 320.
（C）It decreased by about 180.
（D）It decreased by about 320.
（E）It decreased by about 1000.
 
16．A sphere of radius r inside a cube touches each one of the six sides of the cube. What is the volume of the cube, in terms of r?
（A）r3
（B）2r3
（C）4r3
（D）πr3
（E）8r3
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1．C　2．C　3．E　4．A　5．B　6．C　7．B　8．A　9．E　10．C　11．C　12．C　13．D　14．C　15．B　16．D　17．A　18．B　19．C　20．A
Section 3
1．C　2．A　3．B　4．B　5．C　6．D　7．E　8．B　9．B　10．C　11．D　12．B　13．B　14．D　15．E　16．D
 
PRACTICE TEST 2
Section 1
1．A　2．C　3．B　4．B　5．A　6．E　7．E　8．A　9．12　10．2　11．120＜x＜125　12．2035　13．5　14．89　15．13/2 or 6.5　16．5/9, 0.555 or 0.556　17．700　18．120
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附录2　SAT数学英语常用词汇



代数部分
1．有关基本运算
add, plus　加
subtract　减
difference　差
multiply, times　乘
product　积
divide　除
divisible　可被整除的
divided evenly　被整除
dividend　被除数
divisor　因子，除数
quotient　商
remainder　余数
factorial　阶乘
power　乘方
radical sign, root sign　根号
round to　四舍五入
to the nearest　四舍五入
2．有关集合
union　并集
proper subset　真子集
solution set　解集
3．有关代数式、方程和不等式
algebraic term　代数项
like terms, similar terms　同类项
numerical coefficient　数字系数
literal coefficient　字母系数
inequality　不等式
triangle inequality　三角不等式
range　值域
original equation　原方程
equivalent equation　同解方程，
等价方程
linear equation　线性方程
4．有关分数和小数
proper fraction　真分数
improper fraction　假分数
mixed number　带分数
vulgar fraction, common fraction　普通分数
simple fraction　简分数
complex fraction　繁分数
numerator　分子
denominator　分母
（least）common denominator　（最小）公分母
quarter　四分之一
decimal fraction　纯小数
infinite decimal　无穷小数
recurring decimal　循环小数
tenths　unit　十分位
5．基本数学概念
arithmetic mean　算术平均值
weighted average　加权平均值
geometric mean　几何平均数
exponent　指数，幂
base　乘幂的底数，底边
cube　立方数，立方体
square root　平方根
cube root　立方根
common logarithm　常用对数
digit　数字
constant　常数
variable　变量
inverse　function　反函数
complementary function　余函数
linear　一次的，线性的
factorization　因式分解
absolute value　绝对值
round off　四舍五入
6．有关数论
natural number　自然数
positive number　正数
negative number　负数
odd integer, odd number　奇数
even integer, even number　偶数
integer, whole number　整数
positive whole number　正整数
negative whole number　负整数
consecutive number　连续整数
real number, rational number　实数，有理数
irrational（number）无理数
inverse　倒数
composite number　合数
prime number　质数
reciprocal　倒数
common divisor　公约数
multiple　倍数
（least）common multiple　（最小）公倍数
（prime）factor　（质）因子
common factor　公因子
ordinary　scale, decimal　scale　十进制
nonnegative　非负的
tens　十位
units　个位
mode　众数
median　中数
common ratio　公比
7．数列
arithmetic progression（sequence）等差数列
geometric progression（sequence）等比数列
8．其他
approximate　近似
（anti）clockwise　（逆）顺时针方向
cardinal　基数
ordinal　序数
direct　proportion　正比
distinct　不同的
estimation　估计，近似
parentheses　括号
proportion　比例
permutation　排列
combination　组合
table　表格
trigonometric function　三角函数
unit　单位，位



几何部分
1．所有的角
alternate angle　内错角
corresponding angle　同位角
vertical angle　对顶角
central angle　圆心角
interior angle　内角
exterior angle　外角
supplement aryangles　补角
complement aryangle　余角
adjacent angle　邻角
acute angle　锐角
obtuse angle　钝角
right angle　直角
round angle　周角
straight angle　平角
included angle　夹角
2．所有的三角形
equilateral triangle　等边三角形
scalene triangle　不等边三角形
isosceles triangle　等腰三角形
right triangle　直角三角形
oblique　斜三角形
inscribed triangle　内接三角形
3．有关收敛的平面图形，除三角形外
semicircle　半圆
concentric circles　同心圆
quadrilateral　四边形
pentagon　五边形
hexagon　六边形
heptagon　七边形
octagon　八边形
nonagon　九边形
decagon　十边形
polygon　多边形
parallelogram　平行四边形
equilateral　等边形
plane　平面
square　正方形，平方
rectangle　长方形
regular polygon　正多边形
rhombus　菱形
trapezoid　梯形
4．其他平面图形
arc　弧
line, straight line　直线
line segment　线段
parallel lines　平行线
segment of a circle　弧形
5．有关立体图形
cube　立方体，立方数
rectangular solid　长方体
regular solid/regular polyhedron　正多面体
circular cylinder　圆柱体
cone　圆锥
sphere　球体
solid　立体的
6．有关图形上的附属物
altitude　高
depth　深度
side　边长
circumference, perimeter　周长
radian　弧度
surface area　表面积
volume　体积
arm　直角三角形的股
cros ssection　横截面
center of acircle　圆心
chord　弦
radius　半径
angle bisector　角平分线
diagonal　对角线
diameter　直径
edge　棱
face of a solid　立体的面
hypotenuse　斜边
included side　夹边
leg　三角形的直角边
median　of　a　triangle　三角形的中线
base　底边，底数
opposite　直角三角形中的对边
midpoint　中点
endpoint　端点
vertex　（复数形式vertices）顶点
tangent　切线的
transversal　截线
intercept　截距
7．有关坐标
coordinate system　坐标系
rectangular coordinate　直角坐标系
origin　原点
abscissa　横坐标
ordinate　纵坐标
numberline　数轴
quadrant　象限
slope　斜率
complex plane　复平面
8．其他
plane geometry　平面几何
trigonometry　三角学
bisect　平分
circumscribe　外切
inscribe　内切
intersect　相交
perpendicular　垂直
pythagorean theorem　勾股定理
congruent　全等的
multilateral　多边的
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